KENDRIYA VIDYALAYA CCL, RANCHI
Summer Holidays Homework (2025-26)

Class-I

Subject- Mathematics

1. Fill the missing numbers-

1 2 3 4 7 8 10
11 14 16 19
21 22 27 30
31 34 38 39
42 43 45 48 50

2. Write the numbers in word from 1 to 20.
3. My Shape Collage- (A-4 sheet)
Cut out different shapes ( Circle, Square, Triangle, Rectangle) from colour
paper. Paste them on a A-4 size paper and label them.
4. My Family's Age Chart- ( Chart Paper)

Draw a tree and write the ages of your family members. Collect their pictures
and paste the pictures on a chart paper in ascending order ( youngest to oldest).
5. Create a number train- (A-4 sheet)

Draw a train with 10 coaches. Write a number from 1 to 10 on each coach.
Colour all the coaches with different colour.

6. Make a Puppet/ Mask.
Make a Puppet or Mask of our favourite animal using colourful paper and ice-

cream stick.
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Subject- English

1. Take 3 copies of print out of English Letters given below.

Trace the Letters

NS o sisisssbash wdum kv

¥ \\3
oo T e

2. Paste the pictures of five wild animals and five domestic animals on A-4 size paper.




3. Write five words each from letter A -Z on A-4 size paper.
Example — A — apple; A — ant; A- Aeroplane; A — ape; A — Axe

4. Read the Reading cards provided below.

This 1s a red ant.

This 1s a small red ant.

Some ants are black.

Ants live in anthaill.

I saw a black ant. %%
r This 1s a big black ant

This 1s a box.

This 1s a small box.

This 1s a small pencil box.

I have a small pencil box.

I have a new small pencil box.
| He has a small box.
 She has a pencil box.




5. Read the Sight words below.

a I an in is
the to up and for
me we my you not
go one two for red
come look said down hers

6. Draw two fruits and two vegetables on A-4 size paper you like the most and colour

them also.




KENDRIYA VIDYALAYA CCL, RANCHI
Summer Holidays Homework(2025-26)

Class-ll
SUBIJECT: ENGLISH

1. Make a model of bicycle and paste the name of
the different part of bicycle.
(Project - 10 marks)

2. Learn the poem ‘My Bicycle’ with action and
make a video of it in school uniform and send it
to my WhatsApp number.

3. Write English handwriting from your English Text

book in small size four-line copy every day.

4. Prepare a thing from the waste materials: - Pencil stand (material required plastic
bottle, colour paper, black marker, a pair of scissors and fevicol etc.)

5. Draw or paste your favourite one indoor game and one outdoor game. Write five lines
about the games on A-4 size paper.

6. Reading cards are given below, print the Reading Cards and learn to read.

4. A strange Hen 10. A thirsty Crow

Once there was a crow. ltwas
very thirsty. It flew in search of {;w
water but found no water. At
last, it saw a jug of water in the
garden. It reached to the jug but
water was very low. It could not
drink it. It looked here and there
and saw few pebbles nearby. It
thought of a plan. It put pebbles
into the jug. The water rose up. It
drank water and flew away.

Once there was a farmer. He lived in

a village. He had a strange hen. It laid |
a golden egg every day. He sold the !
golden egg and got high price. He !
was very greedy and could not wait
to become rich. He wanted to be
wealthy at once. One day he killed
the hen to get all the golden eggs.
But he was very disappointed to see
that there was only one egg. He felt
sorry but it was of no use.

It is no use crying over spilt milk.

v/

Necessity is the mother of invention.

RS




SUBJECT: MATHS

1. Write number names from — 1 to 100 on A -4 size paper. (Project — 10 marks)
2. Learn the table from 2 to 12 daily.
3. Calendar Challenge — (Do this activity on A-4 size paper.)
a) Choose any month from the calendar and find out the following —
i) Write the name of the month.
i) How many days there in a month?
iiij How many Sundays are there in a month?
iv) How many Mondays are there in a month?
v) Are there any holidays or festivals in that month? Write the name of festivals
or holidays.
4. Take print out of this worksheet and solve.

Fill in the blanks to find the answers
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5. Take print out this worksheet and solve.

Arranging numbers.
Arrange the following numbers in ascending order.

1. 17,75, 19, 28
2. 40, 54, 24, 83
3. 84, 66,92, 100
4. 48,87,12, 21
5. 81, 55,90, 27
6. 73,51,91, 09

Arrange the following numbers in descending order.
63, 85,17, 99
30, 34, 82, 53
14,43, 22,75
53,97,62, 98
69, 48,91, 72
27, 63,81, 40

o kA w N oRE
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KENDRIYA VIDYALAYA CCL, RANCHI
Summer Holidays Homework (2025-26)

Class-llI

SUBJECT- English

Note:
1. Do all the homework on A4 paper and put them in a file.
2. Submit your homework on reopening day.

1. Write 10 action words and paste pictures.
2. Write 5-10 compound words and paste pictures.
Eg SUN + FLOWER = SUNFLOWER
. Write a paragraph about your favorite cartoon character.
. Buy any story book and read it thoroughly.
. Read one page daily from your notebook.

. Write one page cursive writing daily.

N o o W

. Memorize the poem ‘ Out in the garden’, by heart.




SUBJECT — HINDI
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SUBJECT — EVS

1. “A family that eats together stays together”. Make a poster of this
guote and hang it in your home.

2. If you have to draw a family tree who will be at the top? And whose
picture will be at the bottom? Try to make one family tree for your
family. (On A4 Sheet)

3. What games do you play with your elders and other members of your

family? Write the names of these games. (In your Notebook)

SUBJECT: MATHS

Instructions to the Parents
a. Help your ward in learning.
b. Provide learning materials.
c. Provide the print out of this worksheet
d. Monitor your ward’s study.
» MDP should be prepare separately in a file.

» It should cover all Scholastic and Co-scholastic areas like English, Hindi,
Maths, EVS, Art etc
» Each and every student prepares the MDP according to their group.
» Group leader will compile them.
» Time to time teacher will guide you
1. Read, write and learn tables from 2 to 12
2. Write numbers from 100 to 1.(Backward numbers)
3. Make model of Toys with different shapes as given in the book.(page no.10)

4. Worksheet




1. Fill in the blanks:

a. A cube is a special type of . (cylinder/cuboid)

b. A has a pointed top. (cone/sphere)

2. True or False:

a. A cylinder has curved edges. (True/False)

b. A sphere has flat faces. (True/False)

3. Which shape has no edges?
a.Cube b)Cone c)Sphere d)Cuboid

4. How many cylinders are used in Devika's toy engine?
a. 1 b) 2 c)3 d) 4

5. Match the following shapes with their characteristics:

a. Cube i) Has a circular base
b. Cylinder ii) Has all sides equal
c. Cone iii) Has rectangular faces
d. Cuboid iv) Has a pointed top
6. Match the following objects with their shapes:
a. Dice i) Cylinder
b. Ice cream cone ii) Sphere
c. Can iii) Cube
d. Ball iv) Cone

7. What are the three main parts of a 3D shape? Name them.
Ans.
8. True or False:

a. A cube has 6 faces, 8 corners, and 12 edges. (True/False)
b. A cylinder has both flat and curved surfaces. (True/False)
c. A cone has a circular base and a pointed top. (True/False)
d. A sphere has flat faces. (True/False)
9. If Jaya's rocket has 2 cubes, 3 cuboids, 1 cone, and 2 cylinders, how many
shapes are used in total?
a.6 b) 7 c)8 d)9




10. Draw the objects and name the following 3D shapes: a. Cube b. Cylinder c.
Cone

11. Draw the picture of a boat, kite, flower etc. with the help of basic 2 D

shapes.
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SUBJECT: ART

1. A Painting on the Topics.-
-Yoga for all.
» Size of paper- A3
» Colour- Any colour you can use. (water colour, Dry colour, pencil colour etc.)
2. Card making —
A. Welcome card
B. Birthday card
Material required-
» lvory sheet -1
Colour A4 sheet- 2 different colours
Sketch pen
Fabric glue
8 cards to make- (4 welcome card & 4 birthday card)

YV V V V

-The best will be awarded with prize.

SUBJECT: PERFORMIMG ART (MUSIC)
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KENDRIYA VIDYALAYA CCL, RANCHI
Summer Holidays Homework(2025-26)
Class-1V

SUBJECT- - HINDI
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SUBJECT- ENGLISH

Instructions to the Parents
a. Help your ward in learning.
b. Provide a story book and other learning materials.
c. Provide the print out of this worksheet
d. Monitor your ward’s study.
» MDP should be prepare separately in a file.

It should cover all Scholastic and Co-scholastic areas like English, Hindi, Maths, EVS, Art etc
Each and every student prepares the MDP according to their group.

>
>
» Group leader will compile them.
>

Time to time teacher will guide you

1. Read a story from the story book and record your voice. Practice daily. And send the best
recording to the teacher.

2. Learn a new skill and write a paragraph about it.
3. Learn 5 new words daily

4. Picture reading
Compare these two pictures and find 5 to 7 differences between them.
PICTURE-A PICTURE-B

PICTURE-A PICTURE-B




5. Frame small sentences with the help of these words and colour the picture.
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6. Colour the words that have short | sound in the picture in orange and colour any word that does
not have the short i sound in blue




7. Complete the story and colour the picture.

STORY COMPLETION
SOUR GRAPES
hot forest thirsty bunch hanging
pluck high grapes sour walked
(O T day, Bholu, the fox, was walking through the .............. He was

...... .. Of juicy grapes

.......... from a tree. Bholu jumped up to ............ them, but he could not reach
the bunch. He tried again and again. The grapes were too.......... for him.
Bholu looked at the ... for the last time and said, “"These grapes are

............ "He ............ away without looking back.

A

8. Circle the name of flower from each row.
(a) Fig Coconut Tulsi Jasmine
(b) Rose Olive Mango Pineapple
(c) Pine Deodar Grapes Mogra

(d) Lily Banyan Brinjal Eucalyptus




9. Look at the picture and complete the text with the words given.

My bedroom

Look at the picture. Complete the text with the missing words.

Is are blue next to isn’t
between big

This is my bedroom.

It’s . The walls are

There a bed. The bed is the window.
There two mats.

There’s a mat the car and the bed.
There a lamp or a TV. But there is a basketball.

Look at the picture and answer

Is there a TV?

Is there a mirror?

Is there a wardrobe?

Are there toys?

Where’s the grey car?




10. Make two words from each sound.

11. Separate the following words.

(@) Courtyard = ...ooeeeiriiiiiiiiieieeeeeeeene, S TR
(b) Bridegroom = .......ccceeeeeeevivirininiieeeeenen, F e
() Cupcake = ..ccoovvvveiireiiiiecieieeeeeeee S

(d) Keyboard = .....cccoevveviviiiiiieeeeeeeeeeennas F o
(e) Homework = ......coeviiiiiiiiiiiiiiieeceeennn, s
(f) Goldfish = ...ccovvveiiiiiieeiie, s R

12. Use the compound words given below to complete the following sentences.

Grasshopper upstream raindrops backpacks
Football homework forecast underground
(i) The mountaineers carried ..........cccevvueeeennnn. full of foodstuff.
(i) The e, hid in the grass when it saw a frog coming.
(iii) The oo, today is that it will be sunny.
(iv) The student went to play without finishing his .........cccccvvvvnennnin.
(v) The trouts swim ......ccccceevvvvvvnnnnnn.. in the rushing waters.
(Vi) The oo, glistened when the sun came up.
(vii) The moles had dug their holes ...........cccevevnnnn..

(viii) Our team won the ........................... match.




13. List any three advantages of teamwork.

(1) eeeee et e e s e s e e e e




SUBJECT- MATH’S

1. Draw two colourful wall and floor pattern.

2. Find the height of your family members with measuring tape and write their
heights. Find the difference between the tallest and shortest person’s height in
your family.

3. Learn and write Tables from 2 to 20.

4. Make a 3D shapes model.

5. Make 3 Designs with the help of different 2D shapes using colorful papers.
6. Write the names of the angles:

a. 15°

. 65°

95°
180°
105°
67°
35°

. 90°

> 0 Qo0 T

Sub-EVS (TWAU)

Locate 10 countries in the world Political Map.

Make a drawing/Poster on Water Conservation.

Write names of some persons around your neighborhood who help you.
Write names of 5 plants and 5 animals which are useful to us.

Collect different types of leaves and paste it in your copy; write the names of
the leaves.

v wnNRE

Note- Make separate notebooks for holiday homework.




SUBJECT: ART

1. A Painting on the Topics.-
-Yoga for all.
» Size of paper- A3
» Colour- Any colour you can use. (water colour, Dry colour, pencil colour etc.)
2. Card making —
A. Welcome card
B. Birthday card
Material required-
» lvory sheet -1
Colour A4 sheet- 2 different colours
Sketch pen
Fabric glue
8 cards to make- (4 welcome card & 4 birthday card)

YV V V V

-The best will be awarded with prize.

SUBJECT: PERFORMIMG ART (MUSIC)
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KENDRIYA VIDYALAYA CCL, RANCHI
Summer Holidays Homework(2025-26)
Class-1V

SUBJECT- - HINDI
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SUBJECT- ENGLISH

Instructions to the Parents
a. Help your ward in learning.
b. Provide a story book and other learning materials.
c. Provide the print out of this worksheet
d. Monitor your ward’s study.
» MDP should be prepare separately in a file.

It should cover all Scholastic and Co-scholastic areas like English, Hindi, Maths, EVS, Art etc
Each and every student prepares the MDP according to their group.

>
>
» Group leader will compile them.
>

Time to time teacher will guide you

1. Read a story from the story book and record your voice. Practice daily. And send the best
recording to the teacher.

2. Learn a new skill and write a paragraph about it.
3. Learn 5 new words daily

4. Picture reading
Compare these two pictures and find 5 to 7 differences between them.
PICTURE-A PICTURE-B

PICTURE-A PICTURE-B




5. Frame small sentences with the help of these words and colour the picture.
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6. Colour the words that have short | sound in the picture in orange and colour any word that does
not have the short i sound in blue




7. Complete the story and colour the picture.

STORY COMPLETION
SOUR GRAPES
hot forest thirsty bunch hanging
pluck high grapes sour walked
(O T day, Bholu, the fox, was walking through the .............. He was

...... .. Of juicy grapes

.......... from a tree. Bholu jumped up to ............ them, but he could not reach
the bunch. He tried again and again. The grapes were too.......... for him.
Bholu looked at the ... for the last time and said, “"These grapes are

............ "He ............ away without looking back.

A

8. Circle the name of flower from each row.
(a) Fig Coconut Tulsi Jasmine
(b) Rose Olive Mango Pineapple
(c) Pine Deodar Grapes Mogra

(d) Lily Banyan Brinjal Eucalyptus




9. Look at the picture and complete the text with the words given.

My bedroom

Look at the picture. Complete the text with the missing words.

Is are blue next to isn’t
between big

This is my bedroom.

It’s . The walls are

There a bed. The bed is the window.
There two mats.

There’s a mat the car and the bed.
There a lamp or a TV. But there is a basketball.

Look at the picture and answer

Is there a TV?

Is there a mirror?

Is there a wardrobe?

Are there toys?

Where’s the grey car?




10. Make two words from each sound.

11. Separate the following words.

(@) Courtyard = ...ooeeeiriiiiiiiiieieeeeeeeene, S TR
(b) Bridegroom = .......ccceeeeeeevivirininiieeeeenen, F e
() Cupcake = ..ccoovvvveiireiiiiecieieeeeeeee S

(d) Keyboard = .....cccoevveviviiiiiieeeeeeeeeeennas F o
(e) Homework = ......coeviiiiiiiiiiiiiiieeceeennn, s
(f) Goldfish = ...ccovvveiiiiiieeiie, s R

12. Use the compound words given below to complete the following sentences.

Grasshopper upstream raindrops backpacks
Football homework forecast underground
(i) The mountaineers carried ..........cccevvueeeennnn. full of foodstuff.
(i) The e, hid in the grass when it saw a frog coming.
(iii) The oo, today is that it will be sunny.
(iv) The student went to play without finishing his .........cccccvvvvnennnin.
(v) The trouts swim ......ccccceevvvvvvnnnnnn.. in the rushing waters.
(Vi) The oo, glistened when the sun came up.
(vii) The moles had dug their holes ...........cccevevnnnn..

(viii) Our team won the ........................... match.




13. List any three advantages of teamwork.

(1) eeeee et e e s e s e e e e




SUBJECT- MATH’S

1. Draw two colourful wall and floor pattern.

2. Find the height of your family members with measuring tape and write their
heights. Find the difference between the tallest and shortest person’s height in
your family.

3. Learn and write Tables from 2 to 20.

4. Make a 3D shapes model.

5. Make 3 Designs with the help of different 2D shapes using colorful papers.
6. Write the names of the angles:

a. 15°

. 65°

95°
180°
105°
67°
35°

. 90°

> 0 Qo0 T

Sub-EVS (TWAU)

Locate 10 countries in the world Political Map.

Make a drawing/Poster on Water Conservation.

Write names of some persons around your neighborhood who help you.
Write names of 5 plants and 5 animals which are useful to us.

Collect different types of leaves and paste it in your copy; write the names of
the leaves.

v wnNRE

Note- Make separate notebooks for holiday homework.




SUBJECT: ART

1. A Painting on the Topics.-
-Yoga for all.
» Size of paper- A3
» Colour- Any colour you can use. (water colour, Dry colour, pencil colour etc.)
2. Card making —
A. Welcome card
B. Birthday card
Material required-
» lvory sheet -1
Colour A4 sheet- 2 different colours
Sketch pen
Fabric glue
8 cards to make- (4 welcome card & 4 birthday card)

YV V V V

-The best will be awarded with prize.

SUBJECT: PERFORMIMG ART (MUSIC)
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CLASS VI



KENDRIYA VIDYALAYA CCL RANCHI

Session 2025-26 (May 09 to June 17)

CLASS VI SUMMER VACATION HW :

What is the moral of the story ? ( A Bottle of Dew )
How did Rama Natha collect five litres of milk ?
What did the sage tell about the magic potion ?
How did Rama Natha and Madhumati create wealth ?
What did Rama Natha do to the fields ?
Vocabulary : Write 10 difficult words with meaning from Chapter 1.
What attracted the Fox towards Raven ?
How did the Fox snatch a morsel of food ?
What made the Raven open his mouth ?
. What is the lesson that we get from the poem ?
. You are the principal of Happy Learning School ? Write a notice informing all students about the
upcoming summer vacation ?
. Write five sentences of simple present tense.
. Write 30 verbs in V1, V2 and V3 form.
. What is alliteration ? Give some examples from text-book.
NB : All work will be done in class notebook.
Date of correction : 18-20 June, 2025
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KENDRIYA VIDYALAYA C.C.L, RANCHI
HOLIDAY HOMEWORK(2025-26)

STANDARD:VI SUBJECT: MATHEMATICS

e Learn table till 19 (Dodging table)
o Make any figure with three acute angles, one right angle and two obtuse angles.

o Drawtheletter ‘M’ such that the angles on the sides are 40° each and the angle in the middle is
60° .
o Drawtheletter ‘Y’ such that the three angles formed are 150° , 60° and 150° .

e The Ashoka Chakra has 24 spokes. What is the degree measure of the angle between two spokes next
to each other? What is the largest acute angle formed between two spokes?

. PLﬂe: I am an acute angle. If you double my measure, you get an acute angle. If you triple my
measure, you will get an acute angle again. If you quadruple (four times) my measure, you will get an
acute angle yet again! But if you multiply my measure by 5, you will get an obtuse angle measure.
What are the possibilities
for my measure?

CARTOON MAKING( ART INTEGRATED)

Take A-4 Size coloured sheet. Make cartoons of first 10 whole numbers.
Colour Yellow - Smallest Number

Colour Red - Greatest Numbers

Colour Blue - Number Divisible by 2 and 3

Colour Green - First odd number

Colour Pink - Number multiple of 4

e Make a maths working model
o Multi Disciplinary Project : Complete your MDP work which is assigned in the class.
e Practice chapter 1 and 2



SUMMER VACATION HOLIDAY HOMEWORK

CURIOSITY

CHAPTER :1. THE WONDERFUL WORLD OF SCIENCE

QUESTION

POINT
VALUE

SECTION-A MCQ

Which of the following is not a part of water cycle?
a. Evaporation b. Condensation
c. Photosynthesis d. Precipitation

What do plants primarily use to make their food?
a. Soil b. Water c. Sunlight  d. Air

What is science?
a. Atype of art b. A way to study the natural world
c. A form of entertainment d. A language

What is the primary purpose of the roots of a plant?
a.To absorb water and nutrients.

b.To produce food through photosynthesis.

c.To attract insects

d. To support the plant’s structure

Which process involves making observations and forming a hypothesis?
a. Experimentation b. Engineering
b. Scientific Method d. Artistry

In which part of the plant is known as kitchen of the plant?
a. Roots Db. Stem c. Flowers d. Leaves

What happens during condensation in the water cycle?
a. Water turns into vapour
b. Water vapour turns into liquid
c. Liquid water turns into ice
d. lceturns into water

What is the primary source of energy for plants?
a. Water  b. Sall c. Sunlight  d. Air

Which of the following processes involves the changing of water into
water vapour?

a.  Condensation b. Evaporation

c.  Precipitation d. Collection

10

Which of these is a property of liquids?

a. They have a fixed shape

b. They take the shape of their container
c. They are always transparent

d. They cannot flow

ASSERTION AND REASON (1MARK)
Question No. 11 to 15 consist of two statements — Assertion (A) and
Reason (R). Answer these questions selecting the appropriate option
given below:
(a) Both the Assertion and the Reason are correct and the Reason is
the correct explanation of the Assertion
(b) Assertion and the Reason are correct but the reason is not the
correct explanation of Assertion
(c) Assertion is true but the Reason is false
(d) The statement of the Assertion is false but the Reason is true.




11

Assertion: All living things need air to survive.
Reason: Air provides oxygen, which is essential for respiration in most
living organisms.

12

Assertion: Water is a good solvent.

Reason: Water can dissolve a wide variety of substances. Both assertion
and reasoning are correct, and the reasoning is the correct explanation for
the assertion.

13

Assertion: The earth orbits around the sun
Reason: The sun’s gravitational pull keeps the earth in its orbit.

14

Assertion: Plants use sunlight to make food.
Reason: Sunlight provides the energy needed for photosynthesis in plants.

15

Assertion: The moon has its own light.
Reason: The moon is made of shiny material that reflects sunlight.

CHAPTER:2. DIVERSITY IN THE LIVING WORLD

S. NO.

QUESTION

POINT
VALUE

MCQ (1 mark)

Which type of the plant is known for its ability to survive in very dry
conditions?
a. Aquatic plants b. Cactus c. Algae d.Rose

Which of the following is not a green plant?
a. Cactus b. Rose ¢. Mushroom d.Hibiscus

What is the main characteristic of flowering plants?
a. They have seeds but no flowers.

b. They produce flowers and seeds.

c. They have only leaves.

d. They do not have roots.

Which type of plant has a woody stem and can grow to be very tall?
a. Herb b. Shrub c. Tree d. Creeper

Why might an increase in herbivore populations affect plant
communities in an area?

a. It would decrease the number of predators

b. It would reduce the competition among plant species

c. It would lead to overgrazing and reduced plant growth

d. It would improve soil fertility

If you are designing a habitat for lion in a zoo, what kind of
environment should you provide to match its natural habitat?
a. A densely forested area with grass and few trees

b. A dry, open area with grass and few trees

c. A wetland area with lots of mud

d. A cold, snowy environment

You are observing a frog in a pond. Which of the following behaviours
would indicate that it is an amphibian?

a. It only stays in the water and does not leave

b. It alternates between swimming in the pond and basking on rocks
near the water

c. It primarily lives I burrow underground

d. It flies from tree to tree

Which plant type usually grows along the ground
a. Herb b. Creeper c. Tree d. Shrub




Which of the following animals is an example of an omnivore?
a. Cow b. Lion c. Bear d. Eagle

10

Which organ helps the fish to breathe in water?
a. Gills b. tail c. bone d. fins

ASSERTION AND REASON (1 mark)

Question No. 11 to 15 consist of two statements — Assertion (A) and
Reason (R). Answer these questions selecting the appropriate
option given below:

(a) Both the Assertion and the Reason are correct and the Reason is
the correct explanation of the Assertion

(b) Assertion and the Reason are correct but the reason is not the
correct explanation of Assertion

(c) Assertion is true but the Reason is false

(d) The statement of the Assertion is false but the Reason is true.

(a) Hibiscus leaf with (b) Banana leaf with (c) Grass leaf with
reticulate venation parallel venation parallel venation

11

Assertion: The pattern of veins in a leaf is called venation.
Reason: Different types of venation help plants to transport water and
nutrients efficiently.

12

Assertion: Venation refers to the arrangement of veins in a leaf.
Reason: Venation patterns are important for the leaf’s ability to perform
photosynthesis. Which of the following option is correct?

13

Assertion:Parallel venation is common in monocot plants like grasses
and lilies.

Reason:In parallel venation, all the veins run parallel to each other from
the base to the tip of the leaf.

14

Assertion:Reticulate venation is typically found in dicot plants.
Reason:In reticulate venation, the veins from a network-like pattern
across the leaf blade.

15

Assertion:In parallel venation, secondary veins are not present in a
well-defined pattern.

Reason:Parallel venation is characterised by veins that run parallel to
each other without forming a network.

CHAPTER:3. MINDFUL EATING: APATH TO AHEALTHY BODY

S No

QUESTION

SECTION-A (MULTIPLE CHOICE QUESTIONS)

POINT
VALUE

Which one of the following is not a source of fat
a) Nuts  b) walnuts c) Rice  d) Butter

Test used to identify the presence of carbohydrates in food is called
a) Sulphur test. b) lodine test. c) Oxygen test. d) Rice test

Identify the correct statement from the following

a) Junk food is healthy

b) People across India eat same kind of food

c) Carbohydrates and fats provide energy.

d) Culinary practices are same throughout the timeline.




4 Deficiency of vitamin A causes the following disease
a) Loss of vision.  b) Rickets.  ¢) Scurvy.  d) Anaemia
5 Which one of the following diseases is caused due to mineral
deficiency
a) Beri-Beri. b) Goitre. c)Malaria. d) Scurvy
6 Which of the following statements is not correct
a) Choice of food vary according to cultivation of crops, climate, taste
preference, culture and tradition of the region
b) Balance diet provides all nutrients in equal quantities
¢) we should never waste food.
d) Deficiency of one or more nutrients in our diet for long period leads
to deficiency diseases.
7 Swollen neck is a symptom for which of the following disease
a) Scurvy.  b) Anaemia. c) Goitre. d) Beri-Beri
8 During protein test, if protein is present in the food sample it will
change into the following colour.
a) Blue. b) blue-black. C) violet. d) purple
9. | Which one of the following statements is not true
a) Vitamin A helps body to fight diseases |
b) Calcium keeps bones and teeth healthy
c) Iron is an important component of the blood
d) Deficiency of vitamin D cause Rickets
10 | Which one of the following is a source of fat
a) Rice. b) wheat c) Ghee. d) Soyabean
11 | Assertion: carbohydrates give energy to the body
Reason: All starches are carbohydrates
12 | Assertion: we obtain minerals from plants and animals only.
Reason, Minerals help in maintaining various bodily functions
13. | Assertion: Millets are good source of vitamins, minerals like iron and
calcium and dietary fibre as well.
Reason: Millets are called Nutri-cereals.
14 | Assertion: Deficiency of one or more nutrients in our diet causes
deficiency diseases
Reason: Deficiency diseases can be prevented by taking balanced diet
15 | Assertion: Swelling of neck is a symptom of goitre

Reason: Consumption of lodised salt causes Goitre.




Kendriya Vidyalaya C. C. L Ranchi
Summer Vacation Homework
Social Science
Class VI 2025-26

1. Explain the Following terms-
(i) Island
(i) Longitude
(iii) Montane Forest
(iv) Latitude
2. Explain the Role of community in keeping our Environment clean.
3. Locate the following on the map of India.
(1) Lothal
() The Ganga River
(1) Kolkata
(iv) New Delhi
(v) Tinsukia
4. Locate the following on the map of the World.
(i) India
(1) Indian ocean
(1) Africa
(iv) Australia
(v) Ganga & Brahmaputra River Plain
5. Explain different Landormes.
6. Make 3-3 MCQ questions with Answer from the chapters-
(a) Locating Places on the Earth
(b) Oceans and Continents
(d) Landforms and life
7. EBSB Activity- Make a project on Goa (Pairing state for Ranchi Region ) about history ,Climate,
Location, Social , Economic and Cultural life. (Note Minimum 12 Pages)
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mqrdﬁﬁqa'\ (Sanskrit Counting): 1to 100

7.9
8. 3
9.9q
10. @81

11. UahTasT
12. gle0

13. FAtEn

14, IgE

15. Oadesr
16. SIS

17. 9IeT
18. 3T
19. AaesT

20. farfer:
21. Teprfaerfa:
22. grfderfa:
23. Faifdfa:
24, Iqfdera:
25. TsgfgeIfa:

26. ygfderfa:
27. Tt
28. srerfasrfa;
29. Tafderfa:
30. iz

31. TeRferd,
32. gifAsrq
33. eI,
34. Tgfeieq
35. gsafq
36. WA,
37. A,
38. eI

39. TehlHaETRerd

40. TaTRerd

41, TehgeaTRerd.
42, fgaatizrg,
43. Praamerd
A4, TIY@TR,
45, USRI
46. YTIQTRA
47 . GeIganRerd
48. JFETATRRI,
49, TehIHUSTIq

50. THRId

51. TehU=aIeTd
52. fgusanerq
53. Busane

54. I USRI,

55. USAUSHIRId,

56. YeUSTIRI

57. GragsaIRrq

58. STEUSIIRI
59. UchNTB:
60. §f8:

61. UchuT:

62. feufs:

63. Pufs:

64. ﬂ@:ﬂlﬁz

65. USAu(B:
66. yCB:

67. INB:
68. IEYB:

69. TehIla:
70. gdfa:

71. Uhadfd:
72. fggata:
73. Baafa:
74. ﬂ@:ﬂ'@lﬁ:
75. Usagwfa:

76. vea@fd:
77. aEEEh:
78. IrFgEfd:
79. TR
80. arfifar:
81. TahnRfifa:
82. gfifa:
83. =afifa:
84. Tqrafifa:
85. goarsfifd:
86. weafifa:
87. grasfifar:
88. arerefifa:
89. Uehi=Hafa:
90. Tafar:

91. Uehard:
92. fzmafa:
93. BBaafa:
9. i@ﬂﬁﬁ:
95. Usg-gfa:
96. SUUAfd:
97. gd—ard:
98. IFEFI(d:
99. Fa-dfd:
100. 2/,




KV CCL RANCHI
LIVRARY HOLIDAY HOME WORK
FOR CLASS VITO VIII
1.WRITE STATE AND CAPITAL OF INDIA
2. WRITE 20 BOOKS AND AUTHORS
3.WRITE 20 COUNTRIES AND THEIRS CUURENCY
4 WRTITE NEW WORDS (100) AND THEIRS MEANING

NOTE. ALL ABOVE ASSIGNMENTS WRITE IN LIBRARY COPY ONLY



KENDRIYA VIDYALAYA CCL RANCHI
HOLIDAY HOMEWORK (SUMMER VACATION)

Subject: Vocational Education (ciass 6)
ACTIVITY NO. 1
Theme: My Mini Kitchen Garden Project

1. Set Up a Mini Kitchen Garden:
o Use any 3-5 recycled containers like old bottles, cans, pots, or trays.
o Fill them with soil and select easy-to-grow plants such as:
= Coriander (dhania)
= Fenugreek (methi)
= Mint (pudina)
= Tomato
= Chili
= Spinach (palak)
2. Plant the Seeds or Saplings:
o Sow the seeds and water them regularly.
o Place the containers in a sunny spot (balcony, window, rooftop, etc.).
3. Maintain a Weekly Garden Journal:
For 4-6 weeks, students will write or draw:
o Date of planting
Daily watering and sunlight record
Germination progress
Changes in plant size or leaves
o Any insects or birds observed
4. Take Photographs (optional):
o Take weekly photos of your plants and stick them in the journal.
5. Eco-friendly Tips:
o Use kitchen waste as compost (banana peels, tea leaves, etc.).
Avoid plastic containers where possible.

o O O

W Submission Format:

« A handwritten/drawn garden journal or diary.
e 4-5 photos or drawings of the plants.
e 1 paragraph on “What I learned from my Kitchen Garden”.



KENDRIYA VIDYALAYA, CCL, RAJENDRA NAGAR, RANCHI

CLASS VI SUBJECT-PHYSICAL & HEALTH EDUCATION
SUMMER VACATION HOME WORK

1. Aerobics Exercise practice and note down in home work copy.
2. Follow me , note down in home work copy.
3. Practice Rope skipping regular Morning and Evening.



CLASS VI



KENDRIYA VIDYALAYA CCL RANCHI
SUMMER HOLIDAY HOME WORK
CLASS VII SCIENCE (2025-2026)

Chapter 2 — Acids, Bases and Salt

Perform the following activities at home under supervision of elders and report them on
activity notebook.

Red rose as an indicator.

Turmeric as an indicator.

Onion as olfactory indicator.

Collect a soil sample of your area and fi nd out whether it is acidic, basic, or neutral in
nature.

b=

Very Short Answer Questions:

1. Fill in the blanks:

i. are sour in taste.Ans:

ii. Basesare in taste.Ans:

iii. are soapy to touch.

iv. are used to determine if a solution is acid or base.

V. Ant bite contains

vi. Vinegar contains

vii. Lactic acid is present in

viii.  Solution which does not change colour in presence of any indicator is considered to be

iX. Oxalic acid is present in

X. Phenolphthalein turns pink in

Short Answer Questions:



2. What is litmus? Explain its action.
3. Explain the action of turmeric as an indicator.

4. Explain the use of China rose as an indicator.

5. Explain the use of phenolphthalein as an indicator.
6. What is neutralization?
7. Explain the uses of neutralization in daily life.

8. What is acid rain?

9. There are few solutions given. Compare the reactions to the use of litmus, turmeric and
phenolphthalein as an indicator.

Lemon juice, Lime water, Milk of magnesia, Milk, Toothpaste Ans:

Solution Litmus Turmeric Phenolphthale
in

Lemon juice Red Yellow Colourless

Lime water Blue Red Pink

Milk magnesia of | Blue Red Pink

Milk Red Yellow Colourless

Toothpaste Blue Red Pink

10. Complete exercise questions of second chapter and be ready for test.



KENDRIYA VIDYALAYA CCL RANCHI

Session 2025-26 (May 09 to June 17)

CLASS VII SUMMER VACATION HW :

1. Vocabulary : Write 10 difficult words with meaning from Chapter 1.
You are the principal of Happy Learning School ? Write a notice informing all students about the
upcoming summer vacation ?

N

Write five sentences of simple present tense.

Write 30 verbs in V1, V2 and V3 form.

What is alliteration ? Give some examples from text-book.

What is simile ? Give some examples.

Describe Jahnvi’s struggle to get education.

How did the River help Jahnvi overcome her fear ?

Why did the teacher play an important role in Jahnvi’s life ?

10. What does the story teach us about gender equality in education ?
11. The poem teaches us that failures are stepping stones to success. Explain.
12. Write the opposite of the following words taken from the poem.
(@) Up (b)fast (c)glad (d)win (e)succeed

NB : All work will be done in class notebook.

Date of correction : 18-20 June, 2025
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KENDRIYA VIDYALAYA C.C.L, RANCHI
HOLIDAY HOMEWORK (2025-26)
STANDARD: VII SUBJECT: MATHEMATICS

e Using all digits from 0 — 9 exactly once (the first digit cannot be 0) to create a 10-digit
number, write the — (a) Largest multiple of 5 (b) Smallest even number

e A calculator has only ‘+10,000’ and ‘+100’ buttons. Write an expression describing the
number of button clicks to be made for the following numbers:

e (a)20,800 (b)92,100 (c)1,20,500 (d)65,30,000 (e)70,25,700

1. Read the following numbers in Indian place value notation and write their number names
in both the Indian and American systems:

(a) 4050678 (b) 20022002 (c) 345000543 (d) 1020304050
2. Write the following numbers in place value notation:
(a) One crore one lakh one thousand ten
(b) One billion one million one thousand one
(c) Ten crore twenty lakh thirty thousand forty
(d) Nine billion eighty million seven hundred thousand six hundred
3. Compare and write ‘<’, >’ or ‘=":
(a) 30 thousand ____ 3 lakhs
(b) 500 lakhs ___ 5 million
(c) 800 thousand ____ 8 million
(d) 640 crore _____ 60 billion
® Make a math working model

® |earn table till 19 .( Dodging Table)

® Multi Disciplinary Project : Complete your MDP work which is assigned in the
class.

e Activity: To verify the sum of angles of a quadrilateral is 360°,
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Kendriya Vidyalaya C. C. L Ranchi
Summer Vacation Homework
Class VIl 2025-26

1. Make 4-4 MCQ questions with Answer from the chapters-
(a)Geographical Diversity of India - (Chapter 1)
(b) New Beginnings - Cities and States- (Chapter- 4)
(c)From the Rulers to the Ruled : Types of Government ( Chapter -9)
2. What do you mean by Regional Language ? Explain its importance.
3. Explain the life in Desert. How it different from life in the plain area?
4. Locate the following on the map of India.
() The Cold Desert Ladakh
() Odisha
(1) The Great Indian Desert Thar
(IV) Pune
(v) Ranchi
5. Locate the following on the map of the World.
(i) Atlantic Ocean
(1) Indian ocean
(1) Africa
(iv) Australia
(v) Ganga & Brahmaputra River Plain
6. EBSB Activity- Make a project on Goa (Pairing state for Ranchi Region ) about history ,Climate,
Location, Social , Economic and Cultural life. (Note Minimum 12 Pages)




KENDRIYA VIDYALAYA CCL RANCHI
HOLIDAY HOMEWORK (SUMMER VACATION)

Subject: Vocational Education (ciass 7)
ACTIVITY NO. 1
Theme: My Mini Kitchen Garden (plant nursery)Project

1. Set Up a Mini Kitchen Garden:
o Use any 3-5 recycled containers like old bottles, cans, pots, or trays.
o Fill them with soil and select easy-to-grow plants such as:
= Coriander (dhania)
= Fenugreek (methi)
= Mint (pudina)
= Tomato
= Chili
= Spinach (palak)
2. Plant the Seeds or Saplings:
o Sow the seeds and water them regularly.
o Place the containers in a sunny spot (balcony, window, rooftop, etc.).
3. Maintain a Weekly Garden Journal:
For 4-6 weeks, students will write or draw:
o Date of planting
Daily watering and sunlight record
Germination progress
Changes in plant size or leaves
o Any insects or birds observed
4. Take Photographs (optional):
o Take weekly photos of your plants and stick them in the journal.
5. Eco-friendly Tips:
o Use kitchen waste as compost (banana peels, tea leaves, etc.).
Avoid plastic containers where possible.

o O O

W Submission Format:

« A handwritten/drawn garden journal or diary.
e 4-5 photos or drawings of the plants.
e 1 paragraph on “What I learned from my Kitchen Garden”.



KV CCL RANCHI
LIVRARY HOLIDAY HOME WORK
FOR CLASS VITO VIII
1.WRITE STATE AND CAPITAL OF INDIA
2. WRITE 20 BOOKS AND AUTHORS
3.WRITE 20 COUNTRIES AND THEIRS CUURENCY
4 WRTITE NEW WORDS (100) AND THEIRS MEANING

NOTE. ALL ABOVE ASSIGNMENTS WRITE IN LIBRARY COPY ONLY



KENDRIYA VIDYALAYA, CCL, RAJENDRA NAGAR, RANCHI
CLASS VII SUBJECT-PHYSICAL & HEALTH EDUCATION
SUMMER VACATION HOME WORK

1. KABADDI , HISTORY , RULE, FUNDAMENTAL SKILLS, AWARDS IN HOME WORK COPY



CLASS VI
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KENDRIYA VIDYALAYA C.C.L, RANCHI
HOLIDAY HOMEWORK (2025-26)

STANDARD: VIII SUBJECT: MATHEMATICS

1.Percentages

e Find 15% of 480.

e Ashirtis marked at Rs800 and is sold at a 25% discount. Find the selling price.

e A student scored 72 out of 90 marks. What percentage did the student score?

e A population increased by 10% from 12,000. What is the new population?

o A boy spends 40% of his pocket money on books, 30% on snacks, and saves the rest. If he gets
X500, how much does he save?

2. Integers
o Simplify: (-15) + 8 - (-12) -7
e What is the additive inverse of —23?
e  Find the value of: (-6) x (-4) + (-9)
e A submarine is at a depth of 350 meters below sea level. It rises 120 meters. What is its new
depth?
e On a number line, if you move 8 steps left from -3, where do you land?
3. Decimals

® Add:4.56 +3.79

® Subtract: 8.9 - 2.67

® Multiply: 3.2x1.5

® Divide: 9.36 + 3.2

® Express 25% as a decimal.

® Make a math working model

® | earn table till 19 .( Dodging Table)
ACTIVITY:

e To verify the sum of exterior angles of a triangle and quadrilateral
taken in order is 360° or 4 right angles

Multi Disciplinary Project : Complete your MDP work which is
assigned in the class.
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1. W-Qﬁﬂﬂ ﬁlﬂ‘l‘uﬂ{ (Sanskrit Magazine Creation)
« Create a 4-page Sanskrit magazine (handmade/digital) with:
o A short story (h¥T) or poem (EFﬁT-IT) in Sanskrit.
o Fun facts about Sanskrit (e.g., oldest language, NASA's interest iniit).

o Puzzles like crosswords (QIE"—‘I%T*?I’) or word searches,with Sanskrit words.

2. 9ATH-3TITH: (Shloka Practice)

« Learn and write 5 moral-based Sanskrit shlokas (e.g., fram«€hanakya Neeti or
Bhagavad Gita).

« lllustrate one shloka and explain its meaning in‘English/Hindi.
3. W-HTNI’UH{ (Speech Preparation)
« Prepare a 1-minute Sanskrit speech,on topics like:

o "g&ir: SHIaeTEg. TERE:" (Trees are the basis of life).

S "W@' #HgcaHd' (Importance of Sanskrit).
4, ?R-?FT fesT=raT (Daily. Routine in Sanskrit)
« Write Sisentences about your daily routine in Sanskrit (e.g., "3-13" 9Td: 6 dica
3fasarfa ™).
« WAdd drawings or a comic strip to depict it.
5. Qﬁiil'-EFerﬂ: (Research Project)

« Write 5 sentences about a famous Sanskrit scholar (e.g., Kalidasa, Patanjali) or an
ancient Indian text (e.g., Rigveda, Ramayana).




Kendriya Vidyalaya C. C.L Ranchi
Summer Vacation Homework
Social Science
Class VIIl 2025-26

A WN R

. Make 10 MCQ questions along with Answer on the Topic The Indian Constitution.
. Explain the Causes of Battle Plassey and Battle of Buxar.

. What do you mean Three sectors of Indian Economy ?

. Locate the following on the map of India.

(I) The Ganga River
(1) Meerut
(1) Kolkata
(IV) Kanpur
(v) Ranchi

. Locate the following on the map of the World.

(i) India

(1) Japan

(1) Germany

(V) USA

(v) Ganga & Brahmaputra River Plain

. What do you understand by Sustainable Development ? Explain the role of people to achieve

Sustainable Development.

. EBSB Activity- Make a project on Goa (Pairing state for Ranchi Region ) about history ,Climate,

Location, Social , Economic and Cultural life. (Note- Minimum 12 Pages)




KENDRIYA VIDYALAYA CCL RANCHI
HOLIDAY HOMEWORK (SUMMER VACATION)

Subject: Vocational Education (ciass 8
ACTIVITY NO. 1
Theme: My Mini Kitchen Garden Project

1. Set Up a Mini Kitchen Garden:
o Use any 3-5 recycled containers like old bottles, cans, pots, or trays.
o Fill them with soil and select easy-to-grow plants such as:
= Coriander (dhania)
= Fenugreek (methi)
= Mint (pudina)
= Tomato
= Chili
= Spinach (palak)
2. Plant the Seeds or Saplings:
o Sow the seeds and water them regularly.
o Place the containers in a sunny spot (balcony, window, rooftop, etc.).
3. Maintain a Weekly Garden Journal:
For 4-6 weeks, students will write or draw:
o Date of planting
Daily watering and sunlight record
Germination progress
Changes in plant size or leaves
o Any insects or birds observed
4. Take Photographs (optional):
o Take weekly photos of your plants and stick them in the journal.
5. Eco-friendly Tips:
o Use kitchen waste as compost (banana peels, tea leaves, etc.).
Avoid plastic containers where possible.

o O O

W\ Submission Format:
« A handwritten/drawn garden journal or diary.

e 4-5 photos or drawings of the plants.
e 1 paragraph on “What I learned from my Kitchen Garden”.

2. Learn atomic number upto 50.



KV CCL RANCHI
LIVRARY HOLIDAY HOME WORK
FOR CLASS VITO VIII
1.WRITE STATE AND CAPITAL OF INDIA
2. WRITE 20 BOOKS AND AUTHORS
3.WRITE 20 COUNTRIES AND THEIRS CUURENCY
4 WRTITE NEW WORDS (100) AND THEIRS MEANING

NOTE. ALL ABOVE ASSIGNMENTS WRITE IN LIBRARY COPY ONLY



CLASS IX
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KENDRIYA VIDYALAYA CCL RANCHI
Summer Vacation Homework - Class IX (MATHEMATICS)
Session: 2025-26
GENERAL INSTRUCTIONS
All work must be done in a single notebook dedicated to Holiday Homework.
Use clean handwriting, decorate where applicable, and show creativity.

Homework must be submitted on the first day after summer vacation.

Section A: Concept Revision (Solve in your math notebook)
Solve the following problems from your textbook or similar worksheets:

Number Systems

1. Create a table showing five irrational numbers and explain how each is identified
as irrational.

1. Express the following as a rational number in Eform:

(a) 0.666...
(b) 1.272727...
(c) 0.818181...

2. Insert three irrational numbers between V2 and V3
3.

Give an example for each, if two irrational numbers, whose

(1) difference is a rational number.
(1) difference is a irrational number.
(1i1) sum is a rational number.

(iv) sum is an irrational number.

(v) product is an irrational number,
(vi) product is an irrational number.
(vii) quotient is a rational number.
(viii) quotient is an irrational number.

Polynomials

1) The area of a rectangular plot is given by the polynomial 3x2 + 11x - 4. If the length is
(3x + 1), find the breadth.

N e R R e RN R
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2) A rectangular garden has length 2x + 3 and width x + 2. If the cost of fencing the garden
is 50 per meter, find the total cost of fencing.

3). Factorize: 8x3 + 125y3,
4). x*- 16.

5). If p(x) = x3 - 3x2 + 5, find p(x+1).
6) If both (x + 1) and (x - 1) are factors of ax® + x% - 2x + b, find a and b.

Linear Equations in Two Variables

1) Find 3 solutions of the linear equation 2x+3y=6.

2) Cost of a pen is two and half times the cost of a pencil. Express this situation
as a
linear equation in two variables

3) Write the equation of a line which is parallel to x-axis and is at a distance of
2 units from the origin.

4) In some countries temperature is measured in Fahrenheit, whereas in
countries like India it is measured in Celsius. Here is a linear equation that
converts Fahrenheit to Celsius:

F=[9/5] c+32
If the temperature is — 40°C, then what is the temperature in Fahrenheit ?

5) The cost of two pizzas and 1 burger is Rs 450. Represent this situation

algebraically and also, draw the graph.

Section B: Real-Life Application Project
Present it on A4 sheets:

o How polynomials are used in our daily life.
o How linear equations are useful in our day to day life.

Section C: Fun with Math

1. Solve the Sudoku puzzle
2. Try these riddles:
o lamanumber. I am more than 20 but less than 30. The sum of my digits is 9.
What am 1?
o What 3-digit number has the digits that add up to 6 and is divisible by 3?

Section D: Creative Math

o N
G e R N F bl
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Choose ONE:

« Create a math comic strip or cartoon showing a concept (e.g.,Number
System,Polynomials,linear equations in two variable).

o Compose a short rap/poem on any math topic.

o Complete the maths activity work assigne to do in summer vacation.

o N
G e R N F bl

N e R R e RN R



KENDRIYA VIDYALAYA CCL RANCHI

Session 2025-26 (May 09 to June 17)

CLASS IX SUMMER VACATION HW :

1.

ou s w

9.

Story Writing : Write a story in 150 words with the following beginning and give a suitable
title to it.

Yesterday | went for an evening walk. On the way I noticed an old woman sitting under a
tree. She was reading a letter . Her hands were trembling and there were tears in her eyes.
| went slowly near her. ......

You are Rakesh Mahto. Write an article in 100-150 words on “ International Day of Yoga’
describing how events are organised all over the world and the impact it is creating on
people.

Write a short biography of Bismillah khan.

Write Wind poem in your copy.

Bring out the symbolism in the poem ‘The Road Not taken.’

Descriptive paragraph : Taking the information given below in the input, develop it into a
paragraph ( 100-150 words). You can invent your own details.

Hints : story ‘The fun they had- year 2157- no separate buildings- no human teacher- no
printed books-e-books- TV screen — mechanical teacher — slot to put homework- no fun &
romance of old schools-not same leanings

Vocabulary Exercise : confess, overwhelmed, ethnic, static, inadequate, eternally,
erudition, pursuit, epoch, endeavor, condemned, spurious, myths, adherence. Diverse. (
write meaning of these words in your notebook)

You always suffered from the stage fright. Describe how you overcame that weakness and
ultimately won the first prize in the Inter-school Debate Competition. Record that
experience in your diary.

What is oxymoron. Give some examples. ( Page No 18, Words and expressions)

10. Write a paragraph on ‘ Being Human in the age of ‘Artificial Intelligence’



KV CCL RANCHI
SUMMER VACATION HOLIDAY HOME WORK
CHAPTER MOTION
CLASS: IX

SECTION - A

1. Rita was enjoying a ride on a Ferris wheel which is revolving at a constant speed of 5 m/s. This
shows that Rita is:

(a) at rest (b) moving with no acceleration

(c) in accelerated motion (d) moving with uniform velocity
2. The horizontal straight line on distance-time graph indicates:

(a) increasing velocity (b) decreasing velocity

(c) zero velocity (d) constant velocity
3. For amoving object, the numerical ratio of displacement to distance is:

(@) always less than 1 (b) always equal to 1

(c) always greater than 1 (d) equal or less than 1

4. The slope of the Distance-Time graph and Velocity-Time graph represents:
(@) both represent acceleration (b) speed and acceleration respectively
(c) acceleration and speed respectively  (d) both represent speed

5. Which of the following figures represents the uniform motion of a moving object correctly?

A va T&

Time (g) =——> Time =——> _
Time (s) =——> Time (s) —>

6. Name the instrument which is used to measure the instantaneous speed of a vehicle.
(a) Multimeter (b) Ammeter (c) Speedometer (d) Accelerator

7. Four cars A, B, C and D are moving on a levelled road. Their distance versus time graphs is
shown in figure. Choose the correct statement.

m

Distance (m)
—

Distance (i
Distance

&

T D

s A

g B

(4]

A :

Time (s) —>

(a) Car Ais faster than car D (b) Car B is the slowest
(c) Car D is faster than car C (d) Car C is the slowest.

8. Suppose a boy is enjoying a ride on a merry-goround which is moving with a constant speed of

10 m/s. It implies that the boy is :
(a) At rest (b) Moving with no acceleration

(c) Inaccelerated motion (d) Moving with uniform velocity.

In the following questions 9 and 10, a statement of assertion (A) is followed by a statement of
Reason (R). Choose the correct answer out of the following choices.



(a) Both the Assertion and the Reason are correct and the Reason is the correct explanation of
the Assertion.

(b) The Assertion and the Reason are correct but the Reason is not the correct explanation of
the Assertion.

(c) Assertion is true but the Reason is false.

(d) Assertion is false but the Reason is true.

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

Assertion (A): The displacement-time graph of a body moving uniformly is a straight line.
Reason (R): A body travelling with uniform velocity covers equal distances in equal intervals of
time with changing direction.

Assertion (A): If the velocity of a body in uniform motion changes, its acceleration cannot
remain constant.

Reason (R): If a body is thrown vertically upward, the relationship between initial velocity (u)
and acceleration (a) at any moment is v2 — u? = 2as.

SECTION-B

A train starting from a railway station and moving with uniform acceleration attains a speed 90
km h~tin 2 minutes. Find its acceleration.

A bus decreases its speed from 80 km h™* to 60 km h™t in 5 s. Find the acceleration of the bus.

A body is thrown vertically upwards with a velocity and caught back.
(@) What is its displacement and distance travelled?
(b) How do the displacement and distance change if its velocity of projection is halved?

Distinguish between uniform and non-uniform acceleration.

SECTION-C

A bus starting from rest moves with a uniform acceleration of 0.1 m s for 2 minutes. Find (a)
the speed acquired, (b) the distance travelled.
What type of motion is represented by following displacement-time graph:

(a) A b A ic) A

| ! |-

b1
f —» [ ——» f—-

Y
Y

k4
¥

A stone is thrown in a vertically upward direction with a velocity of 5 m s, If the acceleration of
the stone during its motion is 10 m s~2 in the downward direction, what will be the height
attained by the stone and how much time will it take to reach there?

SECTION-D
(a) Draw a velocity-time graph for an object in uniform motion. Show that the slope of velocity
time-graph gives acceleration of the body.
(b) An aeroplane starts from rest with an acceleration of 3 ms—2 and takes a run for 35 s before
taking off. What is the minimum length of runway and with what velocity the plane took off?



SECTION — E (Case Study Based Questions)

19. Read the following information and answer the questions based on information and related
studied concepts.
Ritesh was driving car to his office. When suddenly a boy came in between the road, he applied
brakes suddenly to save the child and the car came to the rest. The whole scenario was observed
by Sita and she draws the velocity-time graph regarding the situation.

14_‘ Velocity-Time graph
12
w
~ -
§’10
g2 ¥
& 6
2 4
2-
O | | | 1 1 | | )
0 5 10 15 20 25 30

Time (hr)
(a) Calculate the displacement of the car after 20 seconds?
(b) After deceleration, how far does the car go?
(c) Describe the motion of the car from 0 s to 30 s.

20. Read the given passage and answer the questions that follow based on the passage and
related studied concepts.
A bus is moving with a velocity of 50 km/h. The driver sees a child running across the road and
he pressed the brakes. The time taken by him to stop the bus in this emergency was 1/10 th of a
second. In a second case, another bus was coming on the same road at the same 50 km/h and the
driver saw another child crossing the road. He applied the brakes and time taken by him to the
emergency was 0.5 sec. Both the buses started moving to their destination after 10 minutes. Bus
A moved at 45 km/h while bus B moved at 60 km/h.

(a) What is the distance between buses A and B?

(b) How much distance did the bus move in the 1st case before the driver could press the brakes?
How much is the distance between bus A and bus B after 1.5 hours?

(c) How much distance did the bus move in the 2nd case before the driver could press the
brakes?
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KENDRIYA VIDYALAYA CCL RANCHI
SUMMER HOLIDAY HOME WORK
CLASS X CHEMISTRY (2025-2026)

1. Cooking gas is known as LPG (Liquified Petroleum Gas). How can a gas be liquified?
(a) when pressure is applied to the gas.
(b) when temperature of the gas is increased.
(c) when gas is mixed with a liquid substitute.
(d) when the force of attraction between particle is reduced.

2. The melting points of four solid A, B, C and D are 380K, 54K, 290K and 1600K. The forces of
attraction are in order of
(a) A<B<C<D (b)B<C<D<A (¢c)B<C<A<D (d)C<B<A<D

3. During summer, water kept in earthen pot becomes cool due to phenomenon of
(a) Diffusion (b) Transpiration (c) Distillation (d) Evaporation

4. Choose the correct statement out of the following.
(a) Conversion of solid into vapours without passing through the liquid state is called
vapourization.
(b) Conversion of solid into vapours without passing through the liquid state is called sublimation.
(c) Conversion of vapours into solid without passing through the liquid state is called freezing.
(d) Conversion of solid into liquid is called sublimation.

5. Which of the following conditions will increase the rate of evaporation? (a) Increase in temperature
of water. (b) Decrease in wind speed.
(c) Decrease in surface area of water.  (d) Adding sugar to water.

6. Latent heat of fusion is amount of
(a) heat energy required to change 1 kg solid into liquid completely at its melting point.
(b) heat energy required to convert 1 kg solid into liquid at room temperature.
(c) heat energy required to change 1 g of solid into liquid completely.
(d) heat energy required to change 1 kg of solid into liquid at any temperature.

7. The temperature at which vapour pressure of liquid becomes equal to atmospheric pressure is
called
(a) melting point. (b) boiling point.
(c) ignition temperature. (d) sublimation temperature.

8. Which of the following is not correct about evaporation?
(a) It is surface phenomenon.
(b) It takes place at all temperatures.
(c) It causes cooling as it takes heat from surroundings.
(d) Its rate decreases with decrease in humidity.

In the following questions 9 and 10, a statement of assertion (A) is followed by a statement of
Reason (R). Choose the correct answer out of the following choices.



(a) Both the Assertion and the Reason are correct and the Reason is the correct explanation of the
Assertion.

(b) The Assertion and the Reason are correct but the Reason is not the correct explanation of the
Assertion.

(c) Assertion is true but the Reason is false.
(d) Assertion is false but the Reason is true.

9. Assertion: In pressure cooker temperature of water becomes more than 100°C. Reason:
Boiling point is directly proportional to pressure acting on liquid.

10. Assertion: We feel more cold after taking bath with hot water.
Reason: Evaporation of hot water takes place faster which causes cooling.

11. What is matter? Write two properties of solids and two properties of liquids.
12. “Evaporation causes cooling”. Explain the reason for this effect.

13. (a) Why does the water kept in an earthen pot become cool in summer? (b) Convert:
340 K to degree Celsius.

14. (a) CO; is a gas. Write its two gaseous properties to justify it. (b) How can we liquefy
a gas?

15. Give reasons for the following:
(1) Aliquid generally flows easily.
(i1) Ice at 0°C appears colder to the mouth than water at 0°C. Why?
(111) Doctors advise to put strips of wet cloth on the forehead of a person having high
temperature.

16. Give reasons for the following:
(a) Camphor disappears if kept in open air for a few days.
(b) Wet clothes do not dry easily on a rainy day.
(c) We sweat more on humid days.

17. Give reasons for the following:
(a) Why does Ice float on water?
(b) Why does a gas fill completely the vessel in which it is kept?
(c) Latent heat of evaporation of two liquids A and B is 100 J/kg and 150 J/kg respectively. Which
one can produce more cooling effect and why?

18. Explain the different processes involved in the flowchart given below.

7N
Goid ) «——» (oas D



19. Read the following information and answer the questions based on information and related
studied concepts.
Substance — 1. is brittle.
Substance — 2. melts at 5 °C and boils at 150 °C.
Substance — 3. has high melting point of 800 °C.
Substance — 4. has melting point —169 °C and boiling point — 104 °C.

(a) What is physical state of substance — 4 at — 150 °C and — 100 °C?
(b) What is physical state of substance —1 and 3 at room temperature?
(c) What is physical state of substance —2 at 100° and why?
OR
(c) Arrange substances —2, 3, 4 in increasing order of force of attraction. Give reason.

20. Read the given passage and answer the questions that follow based on the passage and related
studied concepts.
Matter is anything that occupies space and has mass. Matter is classified into solid, liquid and gas.
In solid state particles are closely packed and have very strong force of attraction, particles can
only vibrate and rotate around fixed positions. In liquid state, particles are less closely packed and
have strong force of attraction but less than solids, particles can move throughout the liquid. In
Gaseous state, particles are far apart with weak force of attraction and are in state of constant
random motion. Gases can be easily compressed where as solids and liquids are incompressible.
(a) An inflated balloon with He gas goes to upper atmosphere, what will happen?
(b) When solid changes into vapours directly predict the strength of forces?
(c) Why do we feel colder after taking bath with hot water?

OR
(d) Why does sea water boils above 100°C?
21 . Which of the following are matter?

Chair, air, love, smell, hate, almonds, thought, cold, cold drink, smell of  perfume.

22.Convert the following temperature to Celsius scale:

i) The temperature is 300 K.
ii) The temperature is 573 K

23. What is the physical state of water at:
(a) A temperature of 250°C

(b) A temperature of 100°C



24. For any substance, why does the temperature remain constant during the change of state?
25. Suggest a method to liquefy atmospheric gases.

26. Arrange the following substances in increasing order of forces of attraction between the
particles— water, sugar, oxygen.

27. What is the physical state of water at- (a) A temperature of 25°C ?
(b) A temperature of 0°C ?

(c) A temperature of 100°C ?

28. If the humidity in the air increase then the rate of evaporation:

(a) decrease
(b) increase
(©) remain same

(d) both (b) and (a) depending upon the temperature

29. Which of the following statements is correct?
(a) boiling is a bulk phenomenon and evaporation is a surface phenomenon
(b) boiling is a surface phenomenon and evaporation is a bulk phenomenon
(¢)boiling and evaporation both are surface phenomenon

(d) boiling and surface both are bulk phenomenon

30. If the temperature of a place is increase then evaporation:
(a) decrease
(b) increase
(¢)remain same

(d) none of the above

31. Which of the following have least inter atomic spacing?

(a) solid
(b) liquid
(c)gases

(d) plasma

32. If you decrease the surface area and increase the temperature, then the rate of evaporation

(a) increase b) decrease c¢) remain same d) may increase or decrease depending upon
other factors

33. What will be the corresponding temperature in degree centigrade for 300 K:



(a) 30°C

(b) 300°C
() 27°C
(@) 673°C

34. Liquid to gas and gas to liquid changes are called:
(a) vaporization and condensation
(b) condensation and vaporization
(¢)sublimation and condensation

(d) condensation and sublimation
35. Give reasons for the following observation:

The smell of hot sizzling food reaches you several meters away, but to get the smell from cold food you
have to go close.

36 . The mass per unit volume of a substance is called density.
(density = mass/volume).

Arrange the following in order of increasing density — air, exhaust from chimneys, honey, water, chalk,
cotton and iron.

36. Liquids generally have lower density as compared to solids. But you must have observed that ice
floats on water. Find out why.

37. Why does a desert cooler cool better on a hot dry day?
38. How does the water kept in an earthen pot (matka) become cool during summer?
39. Why does our palm feel cold when we put some acetone or petrol or perfume on it?

40. Why are we able to sip hot tea or milk faster from a saucer rather than a cup?



Kendriya Vidyalaya C. C. L Ranchi
Summer Vacation Homework
Social Science
Class IX 2025-26

1. Make 4-4 MCQ questions with Answer from all the chapters(17 Chapters ) of History, Geography,
Civics and Economics.
2. Explain the needs of constitution.
. Explain the causes of French Revolution.
4. Locate the following on the map of India.
(I) Delhi
() Sundarban Delta
(111) Dehradun
(iv) Kaziranga National Parks
(v) The Ganga River
5. Locate the following on the map of the World.
(i) Paris
(1) Nantes
(1) Germany
(IV) Italy
(v) England
6. What do you understand by Sustainable Development ? Explain the role of people to achieve
Sustainable Development.
7. EBSB Activity- Make a project on Goa (Pairing state for Ranchi Region ) about history ,Climate,
Location, Social , Economic and Cultural life. (Note- Minimum 18-20 Pages)

w

8.Prepare Portfolio in which you mainly mention Classwork, Work done (activities/ assignments)
Achievements of the student in the Social Science subject .







KENDRIYA VIDYALAYA CCL RANCHI
SUMMER VACATION HOMEWORK
Artificial Intelligence
CLASS: X

Part A: Communication Skills-Il

1.
2.

Make a poster on "The 7 Cs of Effective Communication" with examples.
Write a conversation between two friends demonstrating the use of:

o Polite language

o Active listening

o Clear communication
Identify any two communication barriers in your daily life and suggest how
you can overcome them.
Practice Task: Record a 1-minute audio of yourself giving a short
motivational speech (can be done using your phone). Write the transcript of
your speech in your notebook.

Part B: Communication Skills-lI

B wn
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Define communication and explain its key elements with an example.
Differentiate between verbal, non-verbal, and visual communication.

What are the 7 Cs of effective communication? Explain any three.

Write a dialogue between two friends using polite expressions and active
listening.

List and explain any four barriers to communication.

Explain the communication cycle with a neat diagram.

Why is feedback important in communication?

What is non-verbal communication? List five types of non-verbal cues.
Describe how good communication skills help in group work and teamwork.

O Write a short paragraph on the importance of active listening in school.

Part A: Self-Management Skills-ll

1.

Create a weekly time table for your daily routine (include study time, play
time, meals, etc.).
Write a paragraph about a time when you:
o Seta goal
o Faced a challenge
o Stayed motivated and achieved it
Prepare a personal hygiene checklist for teenagers.



4. Make a mind map showing components of self-management and their
benefits.

5. Practice 3 stress-relief techniques (like deep breathing or time-blocking) and
write about your experience.

Part B : Self-Management Skills-ll

1. Define self-management. List its main components.

2. What is self-awareness? How does it help in self-improvement?

3. List four qualities of a self-confident person. What are the qualities you
want to inculcate in yourself.

4. What is self-motivation? How can students stay motivated during exams?

5. Write a paragraph on the importance of personal hygiene and grooming.
What are the things that you do for your personal hygiene?

6. Create a checklist of daily personal hygiene practices for students.

7. Explain the concept of time management and list five tips to manage time
effectively that you use.

8. What is a SMART goal? Write one personal SMART goal for yourself.

9. Describe any two stress management techniques that you use and how
they have helped you .

10. Write a personal experience where self-confidence helped you succeed.



KENDRIYA VIDYALAYA CCL RANCHI
SUMMER HOLIDAY HOME WORK
CLASS X CHEMISTRY (2025-2026)

1. Which of the following is correct observation of the reaction shown in below set up?

Magnesium
ribbon

Burner Watch glass
Magnesium

oxide

(a) Brown powder of magnesium oxide is formed.
(b) Colourless gas which turns lime water milky is evolved.
(c) Magnesium ribbon burns with brilliant white light.
(d) Reddish brown gas with a smell of burning sulphur has evolved.
(e)
2. A student took sodium sulphate solution in a test tube and added barium chloride solution to it.
He observed that an insoluble substance has formed.
The colour and molecular formula of the insoluble substance is:
(a) Grey, BaxSOq4 (b) Yellow, Ba(SO4)2 (c) White, BaSO4 (d) Pink, BaSO4

3. CeHi20s6(aq) + 602(aq) - 6CO2(aq) + 6H20(])
The above reaction is a/an
(a) displacement reaction (b) endothermic reaction (c) exothermic reaction (d) neutralisation
reaction

4. It is important to balance the chemical equations to satisfy the law of conservation of mass.
Which of the following statements of the law is incorrect?
(a) Total total mass of the elements present in the reactants is equal to the total mass of the
elements presents in the products.
(b) The number of atoms of each element remains the same, before and after a chemical reaction.
(c) The chemical composition of the reactants is the same before and after the reaction.
(d) Mass can neither be created nor can it be destroyed in a chemical reaction.

5. Which one of the following reactions is categorised as thermal decomposition reaction?
(a) 2H20(1) = 2H2(g) + O2(g) (b) 2AgBr(s) = 2Ag(s) + Bra(g)
(c) 2AgCl(s) - 2Ag(s) + Cla(g) (d) CaCOs(s) = CaO(s) + CO2(g)

6. When hydrogen sulphide gas is passed through a blue solution of copper sulphate, a black
precipitate of copper sulphide is obtained and the sulphuric acid so formed remains in the
solution. The reaction is an example of a:

(a) Combination reaction (b) Displacement reaction
(c) Decomposition reaction (d) Double displacement reaction



7. Calcium oxide reacts vigorously with water to produce slaked lime. CaO(s) + H.O(/) -

Ca(OH)2(aq)

This reaction can be classified as:

(A) Combination reaction (B) Exothermic reaction

(C) Endothermic reaction (D) Oxidation reaction

Which of the following is a correct option? [CBSE 2020]

(a) (A) and (C) (b) (C) and (D) (¢) (A), (C) and (D) (d) (A) and (B)

8. Which of the following statements about the reaction given below are correct? MnO; +
4HCI1 - MnCl; + 2H20 + Cl»
(1) HCl is oxidised to Cl»
(i) MnOg; is reduced to MnCl»
(ii1)) MnCl; acts as an oxidising agent
(iv) HCl acts as an oxidising agent
(a) (i), (iii) and (iv) (b) (1), (i) and (iii)
(c) (i) and (i1) only (d) (iii) and (iv) only

In the following questions 9 and 10, a statement of assertion (A) is followed by a statement of reason

(R). Mark the correct choice as:

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion
(A).

(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

9. Assertion (A): MnO; + 4HCI - MnCl; + Cl; + 2H;0 is redox reaction.
Reason (R): MnO: oxidises HCI to Cl; and gets reduced to MnCl,.

10. Assertion (A): After white washing the walls, a shiny white finish on the walls is obtained after
two to three days.
Reason (R): Calcium oxide reacts with carbon dioxide to form calcium hydrogen carbonate
which gives shiny finish.

11. A clear solution of slaked lime is made by dissolving Ca(OH): in an excess of water. This
solution is left exposed to air. The solution slowly goes milky as a faint white precipitate forms.
Explain why a faint white precipitate forms. Support your response with the help of a chemical
equation.

12. Give the chemical name of the reactants as well as the products of the following chemical
equation:
2HNO3 + Ca(OH)> - Ca(NO3)2 + 2H>0

13. Why is respiration considered an exothermic reaction?

14. A zinc plate was put into a solution of copper sulphate kept in a glass container. It was found that
blue colour of the solution gets fader and fader with the passage of time. After a few days when
zinc plate was taken out of the solution, a number of holes were observed on it.

(a) State the reason for changes observed on the zinc plate.



(b) Write the chemical equation for the reaction involved.

15. The following diagram displays a chemical reaction. Observe carefully and answer the following
questions:
(a) Identify the type of chemical reaction that will take place and define it. How will the colour
of the salt change?
(b) Write the chemical equation of the reaction that takes place. (c) Mention one commercial use
of this salt.
\ “-w;_
|

5 a
Zn

/
Silver
chloride

16. (a) Classify the following reactions into different types:
(1) AgNOs(aq) + NaCl(ag) - AgCl(s) + NaNOs(aq)
(i) CaO(s) + H2O(/) - Ca(OH)2(aq)
(iii) 2KC103(s) —=—~ 2KCl(aq) + 302(g)
(b) Which of the above reaction(s) is/are precipitation reaction(s)? Why is a reaction called
precipitation reaction?
17. What is redox reaction? Identify the substance oxidised and the substance reduced in the
following reactions:
(a) 2PbO + C - Pb + CO2
(b) MnO: + 4HCI - MnCl; + 2H20 + Clx

18. (a) Define a balanced chemical equation. Why should an equation be balanced?
(b) Write the balanced chemical equation for the following reaction:
(1) phosphorus burns in presence of chlorine to form phosphorus pentachloride.
(i) burning of natural gas.
(iii) the process of respiration.

19. Read the given passage and answer the questions based on passage and related studied concepts.
The reaction between MnO> with HCl is depicted in the following diagram. It was observed that
a gas with bleaching abilities was released.

HCl(aq)
" )
= A e N o © ~
d ) N ® ¢
d — > . 0 Lo
J MnO ‘o,
K/ n 2(5) L] ° ® % I's)
REACTANTS PRODUCTS

(a) What type of reaction is between MnO; and conc. HCI?
(b) Which compound reacts with Cl, to form bleaching powder?



20.

21.
22.

(c) Identify oxidising agent, reducing agent, substance oxidised and substance reduced in
reaction of MnO; and HCl.
OR
(c) What will happen if we take dry HCl instead of aqueous HC1? What is colour of MnO;? Ans:
(a) It is redox reaction.
(b) Dry Ca(OH): (slaked lime) (¢)
(1) MnO; is oxidising agent
(i1)) HCI is reducing agent
(ii1) HCl is getting oxidised
(iv) MnO: is getting reduced
OR
(c) Reaction will not take place because MnO: solid will not react with HCI] gas. MnO is black
in colour.

Two students decided to investigate the effect of water and air on iron object under identical
experimental conditions. They measured the mass of each object before placing it partially
immersed in 10 ml of water. After a few days, the object were removed, dried and their masses
were measured. The table shows their results.

Mass of Object Mass of the

Student | Object

before Rusting in g | coated objectin g

A Nail 3.0  3.15

B Thin plate 6.0 6.33

(a) What might be the reason for the varied observations of the two students?

(b) In another set up the students coated iron nails with zinc metal and noted that, iron nails
coated with zinc prevents rusting. They also observed that zinc initially acts as a physical
barrier, but an extra advantage of using zinc is that it continues to prevent rusting even if the
layer of zinc is damaged. Name this process of rust prevention and give any two other
methods to prevent rusting.

Or
(b) In which of the following applications of Iron, rusting will occur most? Support your answer
A B C

with valid reason.
D
A - Iron Bucket electroplated with Zinc

B - Electricity cables having iron wires covered with aluminium
C - Iron hinges on a gate
D - Painted iron fence

What happens chemically when quicklime is added to water filled in a bucket?
On what basis is a chemical equation balanced? Answer. A chemical reaction is balanced on the

basis of law of conservation of mass.

23.

What change in colour is observed when white silver chloride is left exposed to sunlight? State

the type of chemical reaction in this change.



24. A solution of potassium chloride when mixed with silver nitrate solution, an insoluble white
substance is formed. Write the chemical reaction involved and also mention the type of the chemical
reaction?

25. Translate the following statement into chemical equation and then balance it
Barium Chloride reacts with aluminium sulphate to give Aluminium Chloride and a precipitate of
Barium Sulphate. State the two types in which this reaction can be classified.

26. Why decomposition reactions are called the opposite of combination reactions? Write equations
for these reactions.

27. What is redox reaction? Identify the substance oxidised and the substance reduced in the
following reactions.

(1) 2PbO + C——>2Pb + CO>

(i) MnO2 + 4HCl ——> MnCl; + 2H,0 + Cl»

28. Using a suitable chemical equation, justify that some chemical reactions are determined by: (i)
change in colour, (ii) change in temperature.

29. Write balanced equations for the following mentioning the type of reaction involved.
(1) Aluminium + Bromine —> Aluminium bromide

(i1) Calcium carbonate——> Calcium oxide + Carbon dioxide

(111) Silver chloride——>Silver + Chlorine

30 Name the natural source of each of the following acid (i) Citric acid (ii) Oxalic acid (iii) Lactic
acid (iv) Tartaric acid
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CLASS X SUMMER VACATION HW :
Give the character sketch of Lencho in the light of his attitude towards God and man.
How did Lencho react when he received money from his God ?
What is meant by apartheid ?
What changed Nelson Mandela as a young man into a bold one?
Write a letter to the Principal of your school bringing to his notice the need for cleanliness
in the school toilets and the classrooms.
Fire and Ice are symbols of human vices and these can cause the end and destruction of
the world.
The oppressor and the oppressed alike are robbed of their humanity, says Nelson
Mandela. What does he mean to say ?
Rivers are considered sacred in our country, but they have been reduced to drains in the
cities. You are deeply concerned about the plight of the rivers. As Nikhil/ Neha write a
letter to the editor of a national daily voicing your concern regarding the plight of a river
near your city.
(150 words)




KV CCL RANCHI
SUMMER VACATION HOLIDAY HOME WORK
CHAPTER MOTION
CLASS: X

SECTION - A

1. A student wants to obtain magnified image of an object AB on a screen. Which one of the
following arrangements shows the correct position of AB for him/her to be successful?

@ , M (b) A N ©a A @ A M
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2. If aman’s face is 25 cm in front of concave shaving mirror producing erect image 1.5 times the
size of face, focal length of the mirror would be
(@ 75¢cm (b) 25 cm (c) 15¢cm (d) 60 cm

3. An object at a distance of 30 cm from a concave mirror gets its image at the same point. The
focal length of the mirror is
(a)—30cm (b) 30 cm (c)—15cm (d) +15cm

4. Beams of light are incident through the holes A and B and emerge out of box through the holes C
and D respectively as shown in the figure. Which of the following could be inside the box?
(@) A rectangular glass slab (b) A convex lens

Box

(c) A concave lens (d) A prism

5. A beam of light is incident through the holes on side A and emerges out of the hole on the other
face of the box as shown in the figure. Wilich of theroIIowing could be inside the box?

sl o e [P Ty =~ O D 2
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Box

(a) Concave lens (b) Rectangular glass slab
(c) Prism (d) Convex lens

6. A student carries out the experiment of tracing the path of a ray of light through a rectangular
glass slab for two different values of angle of incidence «i =30° and «i = 45°. In the two cases
the student is likely to observe the set of values of angle of refraction and angle of emergence as:
(@) «r=30°, ze=20°and «r=45°, ze=28°
(b) «r=30°, ~ze=30°and «r=45°, ze=45°




(c) «r=20°, ze=30°and «r=28°, ze=45°
(d) «r=20°, ze=20°and «r=28°, ze=28°
7. The nature of the image formed by concave mirror when the object is placed between the focus
(F) and centre of curvature (C) of the mirror observed by us is
(a) real, inverted and diminished (b) real, inverted and enlarged
(c) virtual, erect and smaller in size (d) virtual, upright and enlarged

8. The path of a ray of light coming from air passing through a rectangular glass slab traced by four
students are shown as A, B, C and D in figure. Which one of them is correct?

\ ~ AN N
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(a) A (b) B () C (d) D

In the following questions 9 and 10, a statement of assertion (A) is followed by a statement of reason

(R). Mark the correct choice as:

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A).
(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

9. Assertion (A): Incident light is reflected in only one direction from a smooth surface.
Reason (R): Since the angle of incidence and the angle of reflection are same, a beam of parallel
rays of light falling on a smooth surface is reflected as a beam of parallel light rays in one
direction only.

10. Assertion (A): Refractive index has no units.
Reason (R): The refractive index is ratio of two similar quantities.

SECTION-B

11. A spherical mirror produces an image of magnification —1 on a screen placed at a distance of 50
cm from the mirror.
(@) Write the type of mirror.
(b) Find the distance of the image from the object.
(c) What is the focal length of the mirror?

12. A student wants to obtain an erect image of an object using a concave mirror of 12 cm focal
length. What should be the range of distance of the object from the mirror? State the nature and
size of the image he is likely to observe.

13. What is understood by lateral displacement of light? Illustrate it with the help of a diagram. List
any two factors on which the lateral displacement of a particular substance depends.

14. If the speed of light in vacuum is 3 x 108 m/s, find the absolute refractive index of a medium in
which light travels with a speed of 1.4 x 108 m/s.

SECTION-C

15. Draw a ray diagram to show the path of the refracted ray in each of the following cases: A ray of
light incident on a concave lens is




(1) passing through its optical centre.
(ii) parallel to its principal axis.
(ii1) directed towards its principal focus.

16. A 6 cm tall object is placed perpendicular to the principal axis of a concave mirror of focal length
15 cm. The distance of the object from the lens is 10 cm. Find the position, size and nature of the
image formed, using the mirror formula.

SECTION-D

17. A student has focussed the image of a candle flame on a white screen using a concave mirror.
The situation is as given below:
Length of the flame = 1.5 cm
Focal length of the mirror =12 cm
Distance of flame from the mirror = 18 cm
If the flame is perpendicular to the principal axis of the mirror, then calculate the following:
(a) Distance of the image from the mirror

(b) Length of the image.
If the distance between the mirror and the flame is reduced to 10 cm, then what would be
observed on the screen? Draw ray diagram to justify your answer for this situation.

SECTION — E (Case Study Based Questions)

18. Read the given passage and answer the questions based on passage and related studied
concepts.
Hold a concave mirror in your hand and direct its reflecting surface towards the sun. Direct the
light reflected by the mirror on to a white card-board held close to the mirror. Move the card-
board back and forth gradually until you find a bright, sharp spot of light on the board. This spot
of light is the image of the sun on the sheet of paper; which is also termed as “Principal Focus”
of the concave mirror.

EConcave mirror

AN

Y

\/—E o Principal
" axis
£

Principal Focus
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(a) List two applications of concave mirror.

(b) If the distance between the mirror and the principal focus is 15 cm, find the radius of
curvature of the mirror.

(c) Draw aray diagram to show the type of image formed when an object is placed between pole
and focus of a concave mirror.

(d) An object 10 cm in size is placed at 100 cm in front of a concave mirror. If its image is
formed at the same point where the object is located, find:

(i) focal length of the mirror, and

(it) magnification of the image formed with sign as per Cartesian sign convention.
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KENDRIYA VIDYALAYA C.C.L, RANCHI

HOLIDAY HOMEWORK (2025-26)
STANDARD: X SUBJECT: MATHEMATICS

1.LAB ACTIVITY :

(https://ncert.nic.in/pdf/publication/sciencelaboratorymanuals/classiXtoX/mathe matics/lelm404.pdf

2.PORTFOLIO : a) Concept maps of 4 chapters ( 4 pages) b) mathematics around us—
ex: honey comb ,flower petal patterns 2 pages (stick 5 pics on each page ) c) history of
mathematician --- photo, education, contribution towards mathematics d) any
puzzle or brain teaser or sudoku or magic square

3. Art integrated project ---- collect data of highest and least temperature in every month
of 2024 or collect average temperature of last 5 years of the states Jharkhand, Bihar and West
Bengal and draw bar graph of month vs temperature and year vs temperature ,creatively
shade the bars in the graph using sketch or paint or collage work .Also stick monuments of
the two states and identify mathematical shapes in each figure and write the formula of
thegeometrical shape- volume and surface area ( pic of 3 monuments )

4. Practice all examples of chapter 1 to 4 from NCERT textbook.
5.Self practice MCQ’s, Case Based Questions from provided study material

CBSE PREVIOUS YEAR QUESTIONS (WRITE IN HOME WORK NOTE BOOK)

i)If one zero of the polynomial x>- 6x + b is twice the other, find the value of b. Also, find the
zeroes of the polynomial so obtained.

ii) Solve for x and y : 23x + 24y = 23 24x + 23y = 24

I1)If the system of equations 2x + 3y = 5 and 4x + ky = 10 has infinitely many solutions, then
find the value of ‘k’

iv)Find a quadratic polynomial each of whose zeroes is respectively twice the zeroes of the
polynomial 2x?>- 5x + 2.

v)Solve the following system of linear equations graphically : x + 2y = 6 and 3x — 2y = 2 Also,
write the coordinates of the vertices of the triangle formed by these lines and y-axis.

vi.) 16 years ago, at the time of marriage, Ajay was 5 years elder to his wife. The present ages
of the wife and Ajay are in the ratio 8 : 9. Find their ages at the time of their marriage.

vii) If one zero of the quadratic polynomial x>- 4x + 3 = 0 is 1, then find the other zero

viii) Solve: x + 2y = 6, 2x + y = 6 and hence find the value of p for which y = px + 2.

ix) Prove that vV 5 is an irrational number

X) The system of equations given by : 2x — 3y = 5, 6x + 9y = 15 (A) has a unique solution (B) has
no solution (C) has infinitely many solutions (D) may have infinitely many solutions or no
solution


https://ncert.nic.in/pdf/publication/sciencelaboratorymanuals/classIXtoX/mathe%20matics/lelm404.pdf




Kendriya Vidyalaya C. C. L Ranchi
Summer Vacation Homework
Class X 2025-26

1. Make 4-4 MCQ questions with Answer from all the chapters(19 Chapters ) of History, Geography,
Civics and Economics.

2. What do you mean by Unification of Italy ? Explain

3. Describe the forms of power sharing in Belgium.

4. Map Work History and Geography both as per List i.e. CBSE syllabus of Social Science

History-

Congress sessions: ® 1920 Calcutta @ 1920 Nagpur e 1927 Madras session e Kheda e
Champaran e Ahmedabad mill workers e Jallianwala Bagh

Geography —

Dams e Salal @ Sardar Sarovar e Bhakra Nangal e Hirakund e Tehri @ Nagarjun Sagar ¢ Rana
Pratap Sagar e Tungabhadra

Iron Ore Mines Mayurbhanj e Durg e Bailadila e Bellary e Kudremukh

Coal Mines e Raniganj e Bokaro e Talcher e Neyveli

Oil Fields e Digboi Naharkatia e Mumbai High Bassien e Kalol ¢ Ankaleshwa

Major Sea Ports ¢ Kandla e Tuticorin ® Mumbai ¢ Chennai ¢ Marmagao ¢ Visakhapatnam e
New Mangalore ¢ Paradip  Kochi ¢ Haldia

International Airports e Amritsar (Raja Sansi-Sri Guru Ram Das ji) @ Delhi (Indira Gandhi) e
Mumbai (Chhatrapati Shivaji) ¢ Chennai (Meenambakkam) e Kolkata (Netaji Subhash
Chandra Bose) ® Hyderabad (Rajiv Gandhi)

5. Prepare Portfolio in which you mainly mention Classwork, Work done (activities/ assignments)
Achievements of the student in the Social Science subject .

6. EBSB Activity- Make a project on Goa (Pairing state for Ranchi Region ) about history ,Climate,
Location, Social , Economic and Cultural life. (Note- Minimum 18-20 Pages)




CLASS XII



KENDRIYA VIDYALAYA CCL RANCHI
SUMMER VACATION HOMEWORK
COMPUTER SCIENCE(083)
CLASS: Xl

BASICS of PYTHON

Write short notes on the following

Tokens

Character set in Python
Data-type

Comments

Indentation

Membership Operators in Python
Boolean

Runtime error

Keywords

Identifiers

DICTIONARY

Write 5 dictionary functions and explain them using 2 examples for each.

Python program to find the sum of all items in a dictionary
Write a Python script to check if a given key already exists in a dictionary.
Write a Python script to concatenate following dictionaries to create a new one.

Sample Dictionary :
dic1={1:10, 2:20}
dic2={3:30, 4:40}

TUPLE
Q1. What do you mean by Tuple in Python?

Q2. Write a statement to create an empty tuple named ‘T1".

Q3. Write a statement to create a tuple ‘T1’ containing first five even numbers.

Q4. Write the code to convert the given list L1 to tuple. L1 =[1, 2, 3, 4, 5]

Q5. Write a statement to create tuple T1 with single element.

STRING

Write 10 string functions and explain each using 2 examples.

Wap that reads a string and displays the longest substring of the given string
Wap to remove vowels from a given string

PROGRAMMING

Program to print duplicates from a list of integers

Program to increment the elements of a list by 2

Python program to interchange first and last elements in a list

WAP that takes 2 lists and prints true if they have atleast one common member
Calculate the total number of zeros, positive and negative elements in the list.



LOOPS

Q1. Write the output of the following:

for 1 in "Myblog":
print (i, "?°

for i in range(5):
print({i)

for i in range(1@,15):
print(i)

Q2. Write a program to print first 10 natural number.
Q3. Write a program to print first 10 even numbers.
Q4. Write a program to print first 10 odd numbers.
Q5. Write a program to print first 10 even numbers in reverse order.
Q6. Write a program to print table of a number accepted from user.
Q7. Write a program to display product of the digits of a number accepted from the user.
Q8. Write a program to find the factorial of a number.
Q9. Write a program to find the sum of the digits of a number accepted from user

Q10. Write a program to check whether a number is prime or not.

LISTS : Output based questions

1. What is the output of the following code?

my list = [1, 2, 3, 4]
print (my list[2])

2. What is the output of the following code?
my list = [1, 2, 3, 4]

my list[0] = 5
print (my list)

3. What is the output of the following code?
my list = [1, 2, 3, 4]

del my list[1]
print (my list)

4. What is the output of the following code?
my list = [1, 2, 3, 4]

my list.append(5)
print (my list)

5. What is the output of the following code?



my list = [1, 2, 3, 4]
my list.insert (2, 5)
print (my list)

6. What is the output of the following code?

my list = [1, 2, 3, 4]
my list.remove (2)
print (my list)

7. What is the output of the following code?

my list = [1, 2, 3,
print (len(my list))

4]
8. What is the output of the following code?

my list = [1, 2, 3, 4]
print (my list[1:3])

9. What is the output of the following code?

my list = [1, 2, 3, 4]
print (my list[::-1])

10. What is the output of the following code?

my list = [1, 2, 3, 4]
for i in my list:
print (i)

STRINGS

1. What is the output of the following code?

my str = "hello"
print (my str([1])

2. What is the output of the following code?

my str = "hello"
my str[0] = 'J'
print (my str)

3. What is the output of the following code?

my str = "hello"
print (my str.capitalize())

4. What is the output of the following code?

my str = "hello"
print (my str.upper())

5. What is the output of the following code?



my str = "hello"
print (my str.lower())

6. What is the output of the following code?

my str = "hello"
print (my str.replace('l', 't'))

7. What is the output of the following code?

my str = "hello"
print(len(my str))

8. What is the output of the following code?

my str = "hello"
print (my str[l:3])

9. What is the output of the following code?

my str = "hello"
print (my str[::-1])

10. What is the output of the following code?
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KV CCL RANCHI
SUMMER VACATION HOLIDAY HOME WORK 2025-26
CLASS XII (PHYSICS)

Set 1
1. The magnitude of the electric field due to a point charge object at a distance 4.0 m is 9 N/C. From the same
charged object the electric field of magnitude, 16 N/C will be at a distance of

(a) I m (b) 2m (c) 3m (d) 6m

Set Il
2. An isolated point charge particle produces an electric tield E ata point 3 m away from it. The distance of the

point at which the field is % will be
(a) 2m (h) 3m (c) 4m (d) 6m

Set 111
3. An electric dipole moment 2 x 10 C m in a uniform electric field experiences a maximum torque of 6 x 10”!
N m. The magnitude of electric field is

(@ 22x10° vim' () 1.2x 10" Vim' (©) 3.0x 10" Vvm' (@) 42x10° Vm'

4. A point charge q, is moving along a circular path of radius a, with a point charge - Q at the centre of the circle.
The kinetic energy of q is

4o Q qo Q qo Q qo Q
. () ——— © ——— @ ———
4me, a 8meya 4mEy A 8meg a

(a)

5. Assertion (A) : Work done in moving b a charge around a closed path, in an electric field is always zero.
Reason (R) : Electrostatic force is a conservative force.

6.(a) (i) Use Gauss’s law to obtain an expression for n the electric field due to an infinitely long thin straight
wire with uniform linear charge density A.

(ii) An infinitely long positively charged straight wire has a linear charge density . An electron is
revolving in a circle with a constant speed v such that the wire passes through the centre, and is
perpendicular to the plane of the circle. Find the kinetic energy of the electron in terms of magnitudes
of its charge and linear charge density A of the wire.

(iii) Draw the graph of kinetic energy as a function of linear charge density A. (5)

7. Consider two identical point charges located at points (0,0) and (a,0). Is there a point on the line joining them
at which the electric field is zero? (2)



[ Ro]

. Which of the following diagrams correctly represents the electric

to object Y. which of the following is the most possibility for the object Z?

(a) positively charged only (b) negatively charged only
(¢) neutral or positively charged (d) neutral or negatively charged

. A negatively charged object X is repelled by another charged object Y. However an object Z is attracted

. In an experiment three microscopic latex spheres are sprayed into a chamber and become charged with

charges +3e. +5e and -3e respectively. All the three spheres come in contact simultaneously for a moment
and got separated. Which one of the following are possible values for the final charge on the sphere?

(a) +5e, -de, +5e (b) +6e, +6e, -Te (c) -de, +3.5e, +5.5¢ (d) +5e, -8e, +7e

(a) -0.80C (b) +0.80C (c) +1.80C (d) +0.20C w ('/

field between two charged plates if a neutral conductor is placed
in between the plates?

< —— 0

. An object has net charge 1 C and gains 5.0 x 1018 electrons. The net charge on the object becomes-

» 11
et

. The magnitude of electric field due to a point charge 2q, at a distance r is E. Then the magnitude of the

electric field due to a uniformly charged thin spherical shell of radius R with total charge q at distance

/2 (r >> R) will be

(a) E/4 (b) O (c) 2E (d) 4E

. Four objects W, X, Y and Z, each with charge +q are held fixed at four points of a

square of side d as shown in figure. Objects X and Z are on the midpoints of the
side of the square. The electrostatic force exerted by object W on object X is F.
Then the magnitude of the force exerted by object W on Z is

w3 o °F "

Reason (R) : On a negative charge a force acts in the direction of the electric field.

S

. A square sheet of side *a’ is lying parallel to XY plane at z = a. The electric field in the region is
E = ¢ z% k. The electric flux through the sheet is
(a) a*c (b) %a3 c (c) %a“ c d) 0
. Three charges q. -q and qp are placed as shown in figure. The magnitude
of the net force on charge q at point O is [ k= 4"16
2k VZ2k k
@ 0 (b) =% () i (d) o

. Assertion (A) : A negative charge in an electric field moves along the direction of electric field.



CBSE 2020

(SET-1)
1. If the electric flux entering and leaving a closed surface in air are @; and @, respectively, the net electric
charge enclosed within the surface is g (1)
y
2. Two small identical dipoles AB and CD each of dipole moment p are kept at A + +i
angle of 120" to each other in an external electric field E pointing along the D
X- axis as shown in the figure. Find the =4 ”
(a) dipole moment of the arrangement, and X’ [ X
(b) magnitude and direction of the net torque acting on it. (3) O \ E
s C
3. (a) Use Gauss’s law to show that due to a uniformly charged spherical shell ’,«" Be-a 1
of radius R, the clectric field at any point situated outside the shell at ‘ vy’

distance r from its centre is equal to the electric field at the same point,
when the entire charge on the shell were concentrated at its centre. Also plot the graph showing the
variation of electric field with r, forr <R and r >R.

(b) Two point charges of + 1nuC and + 4 pC are kept 30 cm apart. How far from the + 1uC charge on the

line joining the two charges. will the net electric field be zero? (5)
(SET-2) e+ q
1. Electric flux through a spherical surface shown in the figure, is . (D '

2. (a) Two electric field lines cannot cross each other. Also they cannot form closed loops. Give reasons.
(b) A particle of charge 2 uC and mass 1.6 g is moving with a velocity 4 i ms™'. At t = 0 the particles enters
in a region having an electric field E (in NC"') =80 7 + 60 j. Find velocity of the particle att =5s. (3)

y
(SET-3)
1. Two small identical dipoles AB and CD each of dipole moment p are kept G
at angle of 90" to each other in an external electric field E pointing along .
the x- axis as shown in the figure. Find the = | 0 +q
(a) dipole moment of the arrangement, and o _‘D / ?; =
(b) magnitude and direction of the net torque acting on it. 3) l
Be-q
z'
:
CBSE 2023
1. Two charged conducting spheres of radii a and b are connected to each other by a wire. Find the ratio of the
electric fields at their surfaces. 3)
OR

2. A parallel plate capacitor (A) of capacitance C is charged by a battery to voltage V. The battery is
disconnected and an uncharged capacitor (B) of capacitance 2C is connected across A. Find the ratio of
(i) Final charges on A and B.
(i) total electrostatic energy stored in A and B finally and that stored in a initially. 3



3. (i) Consider two identical point charges located at points (0,0) and (a,0). Is +4.0 uC
there a point on the line joining them at which the electric potential is A
zero? Justify your answer.

(ii) State the significance of negative value of electrostatic potential energy
of a system of charges.
Three charges are placed at the corners of an equilateral triangle ABC of

side 2 m as shown in figure. Calculate the electric potential energy of the B C
system of three charges. (5) 4.0 uC +2.0 uC
CBSE 2022

1. The electric potential V at any point (x,y,z) is given by V =3 x?  Where x is in metres and V in volts.
The electric field at the point (1m, 0, 2m) is —
(@ 6V/malong — x axis (b) 6 V/Imalong + x axis
(c) 1.5V/malong — x axis (d) 1.5V/malong + x axis
2. A variable capacitor is connected to a 200 V battery. If its capacitance is changed from 2 pF to X pF, the
decrease in energy of the capacitor is 2 x 10 J. The value of X is —
(@ 1uF (b) 2 uF (c) 3uF (d) 4uF

3. A +3.0nC charge Q is initially at rest at a distance of r1 = 10 cm from a + 5.0 nC charge q fixed at the

origin. The charge Q is moved away from g to a new position r> = 15 cm. In this process work done by the

field is
(a) 1.29x10°J (b) 3.6x10°J (c) -45x107J (d) 45x107J
4. Two charges 14 uC and —4 uC are placed at (-12.cm, 0,0) and (12 cm, 0, 0) in an external electric
field E=B/r* , where B =1.2 x 10% N/ (cm)?and r is in metres. The electrostatic potential energy of the configuration is
(a) 979 J (b) 102.1 J (c) 211 (d) -97.9J

CBSE 2020 Ci Gy Cy Cy Cs

e i e o e |

1. In the figure given below, find the

(a) Equivalent capacitance of the network between points A and B.
Given:Ci1= Cs=8pF, Co=C3=Cs =4 uF. + —

(b) maximum charge supplied by the battery, and (c) total energy store:
7V

2. (a) Two point charges g: and ¢z are kept r distance apart in uniform external electric field E.
Find the work done in assembling this system of charges. y
(b) A cube of side 20 cm is kept in a region as shown in the figure. An electric field

E exists in the region such that the potential at a point is given by V = 10 x + 5,
where V is in volt and x is in m. Find the

(i) Electric field =, and (i) total electric flux through the cube. 0

(SET -2) z
1. In the figure given below, find the C; Gy Cy Cy Cg

B

A
(a) Equivalent capacitance of the network between points A and B. HH—% F—Hl
Given:C1= Cs=4 uF, Co=C3=Cs =2 pF.

(b) maximum charge supplied by the battery, and ¥

(c) total energy stored in the network. 3 5‘v




(SET -3)

1. The potential difference between two points in vacuum is Vo. If vacuum is replaced by a medium of
dielectric constant K, the new value of potential difference will be___ .(1)

2. A capacitor of 4 uF is charged by a battery of 12 V. The battery is disconnected and a dielectric slab of
dielectric constant 8 is inserted between the plates of the capacitor to fill the space completely. Find the
change in the
(a) charge stored in the capacitor, (b) potential difference between the plates of the capacitor, and
(c) energy stored in the capacitor. 3

Chapter —03 CURRENT ELECTRICITY

CBSE 2023
1. When is more power delivered to a light bulb- just after it is turned on and the glow of the filament is
increasing or after the glow becomes steady? Why? 2

2. A battery is connected first across the series combination and then across the parallel combination, of
three resistances R, 2R and 3R. In which of the three resistances will power dissipated be maximum in
the two cases? Justify your answer. (2

3. (i) Derive the relation between the current and the drift velocity of free electrons in a conductor. Briefly
explain the variation of resistances of a conductor with rise in temperature.

(i) An ammeter, together with an unknown resistance in series is connected across to identical batteries,

each of emf 1.5 V, connected (i) in series, and (ii) in parallel. If the current recorded in the two cases

be L Aand L A respectively, calculate the internal resistance of each battery. (5)
2 3
4. (i) State Kirchhoff’s rules. Use them to obtain the condition of balance for a 8V 90
Wheatstone bridge. M — —WAA N
(i) Use Kirchhoff’s rule to determine the current flowing through the branches i
MN, TO and SP in the circuit shown in the figure. T AAAAA— 0
(SET -2) ] —AaA—]

1. Assertion (A) : The temperature coefficient of resistance is positive for metals and negative T?)FI
semiconductors.
Reason (R) : The charge carrier in metals are negatively charged whereas in semiconductors they are
positively charged.

CBSE 2023

1. A current of 0.8 A flows in a conductor of 40 € for 1 minute. The heat produced in the conductor will be
@ 1445 (b) 1536 J () 1569 J d) 1640

2. Define current density and relaxation time. Derive an expression for resistivity of a conductor in terms of
number density of charge carriers in the conductor and relaxation time. 3)

(SET-2)

1.A steady current of 8 mA flows through the wire. The number of electrons passing through a cross-section
of the wire in 10 s is

(@ 40x10% () 50x10Y (¢) 1.6x10® (d) 1.0x10Y



2. A conductor of 10 Q is connected across a 6 V ideal source. The power supplied by the source to the
conductor is
@ 1.8W (b) 2.4W (©) 3.6 W (d) 7.2 W
3. Two cells of emf E1 and E2 and internal resistances r1 and r2 are connected in parallel, with their terminals
of the same polarity connected together. Obtain an expression for the equivalent emf of the combination. (3)
(SET -3)
1. The current in a device varies with time t as | = 6t , where | is in mA and tis in s. The amount of charge
that passes through the device duringt=0stot=3sis
@) 10 mC (b) 18 mC (©) 27 mC (d) 54 mC
2. A potential difference V is applied across a conductor of length | and cross-sectional area A. Briefly explain
how the current density j in the conductor will be affected if
(a) the potential difference V is doubled
(b) the conductor were gradually stretched to reduce its cross-sectional area to A/ 2 and then
same potential difference V is applied across it. 3

CBSE 2022

1. Kirchhoff’s first rule Y./ = 0 and second rule /R = Y E (where the symbols have their usual meanings)
are respectively based on —
(a) conservation of momentum and conservation of charge.
(b) conservation of energy and conservation of charge.
(c) conservation of charge and conservation of momentum.
(d) conservation of charge and conservation of energy.
2. The electric power consumed by a 220 VV — 100 W bulb when operated at 110 V is
(@) 25W (b) 30W () 3BW (d 40W
3. Which of the following has negative temperature coefficient of resistivity?
(@) metal (b) metal and semiconductor (c) semiconductor (d) metal and alloy
4. In a DC circuit the direction of current inside the battery and outside the battery respectively are —
(a) positive to negative terminal and negative to positive terminal.
(b) positive to negative terminal and positive to negative terminal.
(c) negative to positive terminal and positive to negative terminal.
(d) negative to positive terminal and negative to positive terminal.
5. A car battery is charged by 12 V supply and energy stored in it is 7.20 x 10° J. The charge passed through
the battery is
(@) 6.0x10°C (b) 5.8 x10%J (c) 8.64 x 10°) (d) 1.6 x10°J
6. Two sources of equal emf are connected in series. This combination is, in turn connected to an external
resistance R. The internal resistance of two sources are ry and rz (r2> ry).
The potential difference across the source of internal resistance r» is zero, then R equals to —

r2-ri r2 xri r2+ri
(a) r2+ri (b) re-n © r2—ri (d) r2xri Ae ,ljv%\f

7. The equivalent resistance between A and B of the :

network shown in figure is -
(@ 3RQ (b) 32RQ (c) 2RQ d) 2/3RQ 5 5\2'

8. Case Study : An experiment was set up with the circuit diagram 5 b .
shown in figure. Given that '
Ri=10Q,R,=R3=5Q,r=0QandE=5V _[ i Rs

(i) The points with the same potentials are - E | d

(@ b,c,d (b) f, h,]j (c) dyef (d) a,b,]j §R1
3 e
J Rs

=
e
- &



(if) The current through the branch bg is —

(a) 1A b)1/3A () 1/2A d) 2/3A
(iii) The power dissipated in Ry is —
(@ 2w (b) 25W () 3W (d) 45W
(iv) The potential difference across Rz is —
(@ 15V (b) 2V (c) 25V (d) 3V
(SET-1)
CBSE 2020
1. A cell of internal resistance r connected across an external resistance R can supply maximum current when
(A) R=r (B) R>r (C©) R=r/2 (D) R=0

2. In a current carrying conductor, the ratio of the electric field and the current density at a point is called
(A) Resistivity (B)  Conductivity (C) Resistance (D)  Mobility
3. Define the term mobility of the charge carriers in a current carrying conductor. Obtain the relation for

mobility in term of relaxation time. (2)
4. Define the term drift velocity of electrons in a current carrying conductor. Obtain the relationship
betweenthe current density and the drift velocity of electrons. (2)
5. (a) Derive the condition of balance for Wheatstone bridge.
(SET-2)

1. Resistivity of a given conductor depends upon
(A) temperature  (B) length of conductor  (C) area of cross section (D) shape of the conductor
2. The ratio of the current density and the electric field is called
(A) Resistivity  (B)  Conductivity (C) Resistance (D)  Mobility
(SET-3)
1. For a fixed potential difference applied across a conductor, the drift speed of free electrons does
notdepend upon

(A)  Free electron density in the conductor (B) mass of the electron.
(C)  length of the conductor. (D) temperature of the conductor.
2. Ohm’s law is obeyed by
(A) Extrinsic semiconductors. (B) Intrinsic semiconductors.

(C) metal at low temperature. (D) metal at high temperature.



KENDRIYA VIDYALAYA CCL RANCHI
SUMMER HOLIDAY HOME WORK
CLASS XII CHEMISTRY(2025-2026)

SOLUTIONS
Q1 What do you understand by colligative properties? Write them.
Q2 (a)Show graphically that the freezing point of a liquid will be depressed when a non
volatile solute is dissolved in it.
(b)The freezing point of a solution containing 0.3gm of acetic acid in 30.0gm of benzene is
lowered by 0.45°C. calculate the vant Hoff factor (K¢ for benzene = 5.12KKg/mol)

Q3 One litre aqueous solution of sucrose (mm =342gmmol-) weighting 1015gm is found to
record

on osmotic pressure of 4.82 atm at 293K. What is the molarity of the sucrose solution? (R=
0.0821 atm mol'K™)

Q4 (a) Show graphically how the vapour pressure of solvent and a solution in it of a non-
volatile

solute change with temperature. Show on this graph the boiling points of the solvent and
solution. Which is higher and why?
(b) A solution containing 3.00g of BaCl» in 250g of water boils at 100.083°C. Calculate the

value of vant hoff factor and molality of BaCl: in this solution. ( Kp for water =0.52KK/mol
molar

mass of BaCl,=208.3gmol ™)

Q5 Calculate the number of moles of methanol in 5 litre of its 2m solution. If the density of
the solution is 0.981 Kg/l (Molecular mass of methanol = 32.0 gm/mol)

Q6 An aqueous solution containing 1.248g of BaCly(mm = 208.34g/mol) in 100 g of water

boils at 100.0832°C. Calculate the degree of dissociation of BaCl, (Ky for water is
0.52KKg/mol)

Q7 a)What are ideal non ideal solutions. Explain with the suitable diagram the behaviour of
ideal solution.
b) Assuming complete dissociation, Calculate the expected freezing point of a solution,

prepared by dissolving 6.00g of Glaubers salt (NaSO4.10H20) in 0.100K g of water)Kr =
1.86KKg/mol



Q8 What is meant by Vant Hoff factor? The osmotic pressure of a 0.0103 molar solution of an
electrolyte is found to be 0.70 atm at 27°C. Calculate the Vant Hoff factor (R = 0.082Latm
mol'K™") What conclusion do you draw about the molecular state of the solute in the
solution?

Q9 What is the sum of the molecular fraction of all the components in the 3 component
System.

Q10 Define following terms (i)Mole fraction (ii) molarity

Q11 The elements A and B form purely covalent compounds having molecular formulae AB>
and

ABa4. When dissolved in 20g of benzene 1gm of AB» lowers the freezing point by 2.3K
whereas

lgm of AB4 lowers it by 1.3K .The molar depression constant for benzene is 5.1KKg/mol.
Calculate the atomic mass of A and atomic mass of B.

Q12 Calculate the molality of a solution containing 20.7g of K2COs. Dissolved in 500ml of
solution assume density is 1g/ml?

Q13 What would be the value of Vant Hoff factor for a dilute solution of K2SO4 in water

Q14 State Henrys law for solubility of a gas in a liquid. Explain the significance of Henrys
law

Constant (Kg). at the same temperature, hydrogen is mole soluble in water than helium.
Which

will have a higher value of Ky and why?
Q15 (a)Urea forms an ideal solution in water. Determine the vapour pressure of an aqueous
sol" containing 10% by mass of urea at 40°C vapour pressure of water at 40°C is 55.3 mmHg.

(b)Why is freezing point depression of 0.1 M NaCl solution twice that of 0.1 M glucose
solution.

QI16. State the condition resulting in reverse osmosis.

Q17 A 0.1539 molal aqueous solution of cane sugar (M=342 g mol™!) has a freezing point of
271K

while the freezing point of pure water is 273.15K. What will be the freezing point of on
aqueous

solution containing 5g of glucose (M=180 g/mol) per 100 g of solution.

Q18 How much of sucrose is to be added to 500 g of water such that it boils at 100°C if the
molal elevation constant for water is 0.52 K kg mol! and the boiling point of water at 750
mm Hg is 99.63°C?



Q19 Define osmotic pressure and describe how the molecular mass can be determined on the
basis of osmotic pressure measurement.

Q20 State Raoults law for Solution of volatile liquid components. Taking a suitable example
explain the meaning of (+) deviation.

Q21 A Solution containing 8 gm of a substance in 100 gm of diethyl ether boils at 36.86°C
whereas pure ether boils at 35.60°C. Determine the mole mass of solute K»=2.02 KKg/ mol)

Q22 a) Calculate the temp. at which a sol" containing 54 gm of glucose in 250 g of water will
freeze

(K#=1.86kg/mol)

b) 100mg of a protein is dissolved in enough water to make 10ml of a solution. If this
solution

has an osmotic pressure of 13.3mm Hg at 250 C. What is the molar mass of the protein?
R=0.0821 Latm mol™! k') and 760 mm Hg=1atm

c) What conc. of nitrogen should be present in a glass of water at room temperature?
Assume a temp of 250C, total pressure is 1 atm and mole fraction of Nitrogen in air is 0.78.
KH is

8.42 X10”"M/mmHg for nitrogen.

Q23 What mass of ethylene glycol (M=62.0g/mol) must be added to 5.50kg of water from
0°C to -10°C (Kf for water = 1.86kg/mol)

Q24 15g of an unknown molecular substance was dissolved in 450g of water. The resulting
solution

freezes at -0.34°C. What is the molar mass of the substance (Kf for water is 2.86KKg/mol)

Q25 What mass of NaCl must be dissolved in 65.0gm of water to lower the freezing point of
water by

7.50°C.The freezing point depression constant Kf 1.86KKg/mol. Assume vant Hoff factor for
NaCl

s 1.87 (M=58.5 gm)

Q26 A solution of glycerol(C3HgOs3)) in water was prepared by dissolving some glycerol in
500g of water. This solution has a boiling point of 100. 42°C.What mass of glycerol was
dissolved to make this

solution? (Kb for water is 0.512KKg/mol)
Q27 a) An aqueous solution of 10gm of glucose (CsH1206) in 90gm of water at 303K. If the

vapor pressure of pure water at 303K be 32.8mmHg. What would be the vapour pressure of
the

solution.



(b)1.00g of a non-electrolyte solute dissolved in 50g of benzene by 0.40K. Find the molar
mass of the

solute (K¢ for benzene is 5.12KKg/mol)
c)Define the following terms (i)Ideal solution (ii) Azeotrope (iii) Osmotic pressure

Q28 a) A solution of glucose(CsH1206) in water is labelled as 10% by weight. What would be
the

molality of the solution?(molar mass of glucose is 180mol ™)

(b)A solution containing 15g urea (M = 60) per litre of solution in water has the same osmotic
pressure (isotonic) as a solution of glucose (M180) in water. Calculate the mass of glucose
present in one litre of its solution.

Q29 What type of deviation is shown by a mixture of ethanol ad acetone? Give reason.
Q30 (1)Why are aquatic species more comfortable in cold water than in warm water?

(i1) What happens when we place the blood cell in saline water solution (hypertonic
solution)?

Q31 Vapour pressure of water at 20°C is 17.5mmHg. Calculate the vapour pressure of water
at 20°C When 15 gm of glucose is dissolved in 150gm of water.

Q32(i)Write the colligative property which is used to find the molecular mass of
macromolecules.

(i1)In non ideal solution what type of deviation shows the formation of minimum boiling
Azeotropes

Q33 Calculate the boiling point of solution when 2g of Na,SO4 was dissolved in 50g of
water,

assuming Na>SO4 undergoes complete ionization.

Q34 (a)A 10% solution (by mass) of sucrose in water has a freezing point of 269.15K.
Calculate

the freezing point of 10% glucose in water if the freeing point of pure water is 273.15K
Given (Molar mass of sucrose = 342gmol! and Molar mass of glucose = 180gmol™')

(b) 30g of urea (M=60gmol™) is dissolved in 846 g of water. Calculate the vapour pressure
of water for this solution if vapour pressure of pure water at 298K in 23.8 mmHg.

(c) Write two differences between ideal solutions and non-ideal solutions.

Q36 Calculate the freezing point of a solution containing 60 g of in 250 g of water (kr of
water = 1.86 KKg/mol)

Q37 A solution containing 1.9 g per 100 ml of KCI (M = 74.5 g mol-) is isotonic with a
solution

containing 3 g per 100 ml of Urea (M = 60). Calculate the degree of dissociation of KCl



solution. Assume that both the solution have same temperature.

Q38What happens when

(1) A pressure greater than osmotic pressure is applied on the solution side separated
from solvent by a semipermeable membrane?

(i1) Acetone is added to pure ethanol?

Q39 The freezing point of a solution containing 5g of benzoic acid (M = 122g mol-1) in35 g
of

benzene is depressed by 2.94 K. What is the percentage association of benzoic acid if it forms
a

dimer in solutions? ( Ky for benzoic acid = 4.9 Kg mol™!)
Q40 When 2.5g of a non-volatile solute was dissolved in 50ml of water, it gave boiling point

elevation of 0.52°C. The molar mass of the solute is (Kp for water = 0.52 Kkgmol ™)

Electrochemistry

1. Conductivity of 0.00241M acetic acid is 7.896X10° Scm™!. Calculate its molar
conductivity

and it the limiting molar conductivity of acetic acid is 390.5 Scm? mol™!. What is its degree
dissociation?
2.Write the Nernst equation for the cell and find the emf of the cell at 298K

Mg(s) /Mg2+(0.001M)1ICu2+(0.0001m)/Cu(s)Given that E® mez/me= -2.36 V, E° cyar/cu =
+0.34V

3.Represent the cell in which the following reaction takes place
Mg(s) + 2Ag" (0.0001M) — Mg?* (0.130 M) + 2Ag(s)

Calculate its Ecen if E° cell =3.17 V .Calculate Gibb’s free energy change and equilibrium
constant

4.Can a Nickel spatula be used to stir a solution of copper sulphate? Justify your answer.
(E “Nit2ni= -0.25V  E° cuotce=0.34V)

5.The conductivity of 0.20M KCI solution at 298K 1s 0.0248 S/cm. Calculate its molar
conductivity.

6. Write the Nernst equation for the following cell.
Ni(s) +2Ag" (0.01M)------- — Ni **(aq) (0.001M) +2Ag(s)

7. Given that standard electrode potentials,of different metal ion are:



K'/K =-2.93V, Ag'/Ag = 0.80V, Hg */Hg=0.79 VMg *>*/Mg =2.37V, Cr **/Cr =-0.74V
Arrange these metals in their increasing order of reducing power.

8.Why does conductivity of a solution decrease with dilution?

9.The EMF of a cell corresponding to the reaction ( E° zn2+/z0=-0.76V)

Zn(s) +2H"(aq) ------------—- — Zn 27(0.1M) +Hx(g, 1atm) is 0.28V at 25%

Write the half cell reaction and calculate the PH of the solution at Hydrogen electrode
10. EMF =0.2V at 298K Cd(s) /Cd>"(D)IINi?*(2.0M)/Ni(s)

Given that E® cqo+/ca= -0.40 V' E% nizani = -0.25V

11. Write the cell reaction of a lead storage battery when it is discharging electrolyte change
when the battery is discharged?

12. Why on dilution the Am of CH3COOH increases drastically while that of CH;COONa
increases gradually?

13. (a) Which type of a metal can be used in cathodic protection of iron against rusting?
(b) Write the name of the electrolyte used in fuel cell.

14. The molar conductivity of sodium acetate, sodium chloride and hydrochloric acid are
83,127 and 426 mho cm?mol ! at 250°C respectively. Calculate the molar conductivity of
acetic acid solution.

15. What will be the sign of AG for an electrochemical cell and an electrolytic cell?

16. The resistance of a conductivity cell containing 0.001 M KCI solution at 298 K is 1500
W. What is the cell constant if conductivity of 0.001 M KCI solution at 298 K is 0.146 x 103
Scm™?

17. (1) Define limiting molar conductivity and fuel cell.

(ii) Resistance of a conductivity cell filled with 0.1 mol L' KCl solution is 100 ohm. If the
resistance of the same cell when filled with 0.02 mol L' KCl solution is 520 ohm, calculate

the conductivity and molar conductivity of 0.02 mol L™! KCI solution. The conductivity of
0.1 molL "' KCI solution is 1.29 x 102 ohm ' cm™.

18. (1) State two advantages of H>—O> fuel cell over ordinary cell.

(i) Silver is electrodeposited on a metallic vessel of total surface area 500 cm? by passing a
current of 0.5 amp for two hours. Calculate the thickness of silver deposited [Given: Density
of silver = 10.5 g cm™, Atomic mass of silver = 108 amu, F = 96,500 C mol ]

19. Conductivity of 2.5 x 10 ~* M methanoic acid is 5.25 x 10 — 5 S cm™'. Calculate its molar
conductivity and degree of dissociation.Given: lo (H+ ) =349.5 S cm? mol ~! and lo (HCOO-
)=50.5S cm? mol .

20 a.) Assertion (A) : The Daniell cell becomes dead after some time.

Reason (R) : Oxidation potential of zinc anode decrease and that of copper cathode increases.



b.) Assertion (A) : Copper liberates hydrogen from a dilute solution of hydrochloric acid.
Reason (R) : Copper is below hydrogen in the electrochemical series.

c.) Assertion (A) : F» is stronger oxidising agent than Clo.

Reason (R) : Oxidation potential of F» is greater than that of CI2.

d.) Assertion (A) : H2 — O2 fuel cell gives a constant voltage throughout its life.

Reason (R) : In this cell, H2 reacts with OH- ions, yet the overall concentration of OH- ions
does not change

6.) Assertion (A) : Molar conductivity of a weak electrolyte at infinite dilution cannot be
determined experimentally.

Reason (R) : Kohlrausch law helps to find molar conductivity of a weak electrolyte at infinite
dilution.

PROJECTS

Scientific investigations involving laboratory testing and collecting information from other
sources. Do it as assigned according to roll numbers.

a) Study of the presence of oxalate ions in guava fruit at different stages of
ripening.

b) Study of quantity of casein present in different samples of milk.

C) Preparation of soybean milk and its comparison with the natural milk with

respect to curd formation, effect of temperature, etc.

d) Study of the effect of Potassium Bisulphate as food preservative under various
conditions (temperature, concentration, time, etc.)

e) Study of digestion of starch by salivary amylase and effect of pH and
temperature on it.

f) Comparative study of the rate of fermentation of following materials: wheat
flour, gram flour, potato juice, carrot juice, etc.

g) Extraction of essential oils present in Saunf (aniseed), Ajwain (carom), I1laichi
(cardamom).

h) Study of common food adulterants in fat, oil, butter, sugar, turmeric power,
chili powder and pepper.

I)Study of acidity of fruit and vegetable juices.



Summer vacation HW
Class xii
Biology

1. Complete the assignment given to you from chapter 1 and 2.
2. Complete your practical work assigned.
3. Make an investigatory project upon any of the following topic.
a) Edible parts of fruit and seed
b) Seed dormancy
c) Pollen diversity and viability
d) Causes of infertility in male and female
e) Contraceptive measures
f) A.R.T. and infertility today
g) STDs.

4.Please make two case based and ten CBT gns from first unit.



KENDRIAYA VIDYALAYA CCL RANCHI

HOLIDAY H.W. FOR SUMMER VACATION
CLASS XII SCIENCE, SUBJECT:- MATHS

(2025-26)

GENERAL INSTRUCTIONS:-

(a) All work must be done in a single notebook dedicated to Holiday Homework

(b) Homework must be submitted on the first day after summer vacation

(c) PYQ OF CHAPTER 1, 2 & 3 OF LAST 05 YEARS AISSCE (20 21, 22, 23, 24, 25.) will be shared in your class
whatsapp group in pdf format.

Message by Subject Teacher(VIPESH KUMAR SINGH,PGT(MATH)
This break is a well —deserved opportunity to refresh your mind and body. While you enjoy your
holidays, remember that class 12 is a crucial year. Make time for both rest and preparation. Read,
explore new skills, revise tightly and most importantly take care of your well-being.

CHAPTER — 1(RELATION AND FUNCTION)
MCQ QUESTIONS

(i) Let R be the relation in the set Z of all integers defined by R = {(X, y) : X —y is an integer}. Then R is
()reflexive (b) symmetric (c) transitive (d) an equivalence relation
(ii) Let f: R — R be a function defined by f(x) = x3 + 4, thenfis
(@) Injective (b) Surjective (c) Bijective (d) None of these
(iii) Let A ={1, 2, 3} and B = {a, b, c}, then the number of bijective functions from A to B are
(@2 (b) 8 (c)6 (d)4
(iv) The number of surjective functions from A to B where A = {1, 2, 3,4} and B = {a, b} is
(a) 14 (b) 12 (c)2 (d) 15
(v) Let A={1,2,3}and R ={(1, 2), (2, 3)} be arelation in A. Then, the minimum number of ordered
pairs may be added, so that R becomes an equivalence relation, is
@7 (b) 5 ()1 (d)4

LONG ANSWER QUESTIONS

(i) Show that the function f: N — N given by f(x) = 3X-4 is one-one but not onto.

n+1 .
) — ifn=odd) )
(i) Show that f:N—N defined by f(n)={ ,2 is many onto function
> if n=even

(i) Let A = N x N be the set of ail ordered pairs of natural numbers and R be the relation on the
set A defined by (a, b) R (c, d) iff ad = bc. Show that R is an equivalence relation.
(iv) Check whether the relation R in the set R of real numbers, defined by : R = {(a, b): 1 + ab > 0},
is reflexive, symmetric or transitive.
(v) Let N denote the set of all natural numbers and R be the relation on N x N defined
by : (a, b) R(c,d) is ad(b + c) = bc(a + d). Show that R is an equivalence relation.

CHAPTER — 2(INVERSE TRIGONOMETRIC FUNCTIONS)

(i) Prove that tan™! [ZSiTl (2 cos™ 1 g)] = g

- _1 (3x—x3
(ii) Express tan (1 2

) in simplest form.

(i) Find the domain of y = cos~1(x? — 4)




E B

E

(v)

(v)  Find the value of cos‘l(cosz—;j +sin‘1(sin2?nj

(v) Prove that: sec?(tan™t 2) + cosec?(cot™ 3) = 15.

CHAPTER — 3 (Matrices)

IfA= [_01 (1)] then find the real values of x and y such that (x I +y A)? = A

IfA= [_01 (1)] then find the real values of x and y such that (x I +y A)2 = A

cosx —sinx O
If F(x) = [sinx CoSX Ol,pl‘ove that F(x) F(y) = F(x+y)
0 0 1

0 —tan2
2

Let A= and I be identity matrix of order 2. Show that

a
tan—
2

1+A= (I-A) [cosa —Sina]
sina cosa

CASE BASED QUESTION ( Four marks question )

Q1: Three schools A, B and C organized a mela for collecting funds for helping the rehabilitation of
flood victims. They sold handmade fans, mats and plates from recycled material at a cost of Rs. 25,
Rs.100 and Rs.50 each. The number of articles sold by schools A, B and C are given below.

Article / School —> A B C
Fans 40 25 35
Mats 50 40 50
Plates 20 30 40

Based on the above information, answer the following questions:

0] Write a matrix P be a 3x 3 matrix represent the sale of handmade fans, mats and plates
by schools.

(ii) Write a matrix Q of 3x 1 represents the sale price of given products.

(iii) Find the collected funds by all the three schools for all products

ACTIVITIES - (TO BE DONE IN A SEPARATE ACTIVITY NOTE-BOOK)

1. TO VERIFY THAT THE RELATION R IN THE SET L OF ALL LINES IN A PLANE, DEFINED BY R = {(L, M) : L ||
M} IS AN EQUIVALENCE RELATION.

2. TO DEMONSTRATE A FUNCTION WHICH IS NOT ONE — ONE BUT ONTO.

3. TO DRAW THE GRAPH OF SIN* X USING THE GRAPH OF SINX AND DEMONSTRATE THE CONCEPT OF
MIRROR REFLECTION (ABOUT THE LINE Y = X).

4. TO UNDERSTAND THE CONCEPT OF DECREASING AND INCREASING FUNCTIONS.

3k 3k 3k 3k 3k 3k 3k >k 3k >k 3k 3k 3k 3k %k %k >k 3k 3k 3k 3k 3k %k %k %k %k >k 3k 3k >k *k *k k %k




KENDRIYA VIDYALAYA, CCL, RAJENDRA NAGAR, RANCHI
CLASS X1l SUBJECT- PHYSICAL ACTIVITY TRAINER
SUMMER VACATION HOME WORK
Unit 1
OVERVIEW OF PHYSICAL EDUCATION AND SPORTS SECTOR

Topic: Describe the job profile and career opportunities of a Physical Education Assistan

SHORT ANSWERS OF THE FOLLOWING

Q1. What are the main responsibilities of a Physical Education Assistant?

Q2. What skills are required to be an effective Physical Education Assistant?

Q3. How does a Physical Education Assistant contribute to a school's sports program?
Q4. What career paths can a Physical Education Assistant pursue?

Q5. Why is teaching Physical Education important in schools?

Q6. What is the role of a coach in sports?

Q7. What are the main responsibilities of a Sports Manager?

Q8. What are some essential qualities of a good coach?

Q9. How does sports management contribute to the success of an event?

Q10 What are some career opportunities in the field of Coaching and Sports Management?
Q11. What are the responsibilities of a fitness trainer?

Q12. Who is an Equipment Manager, and what do they do?

Q13. What are some career opportunities in the fitness sector?

Q14. How does proper equipment management benefit athletes?

Q15. What are some common fitness certifications required for a career in the fitness industry?
Q16. What are the responsibilities of a sports journalist?

Q17. What skills are required to be a successful sports photographer?

Q18. How has digital media influenced sports journalism?

Q19. What are some career opportunities in sports photography?

Q20. What is the importance of photography in sports?

Q21. What is sports medicine, and why is it important?

Q22. What role does a sports psychologist play in an athlete’s performance?
Q23.What are some common injuries treated by sports medicine specialists?

Q24. How does mental training help athletes improve their game?

Q25. What are some career opportunities in sports medicine and sports psychology?
Q26. What is sports nutrition, and why is it important for athletes?

Q27. How does a sports nutritionist help an athlete?

Q28. What are the key nutrients required for an athlete’s diet?

Q29. Why is protein important for athletes?

Q30. What are some career opportunities in the field of sports nutrition?

Q31. What is physical activity?

Q32. How do games differ from sports?

Q33. What are the key characteristics of sports?

Q34. How does recreation contribute to well-being?

Q35. Give two examples of recreational activities.

LONG ANSWER OF FOLLOWING
Q2. Discuss the differences between physical activity, games, sports, and recreation with examples.
Q1. Discuss the importance of life skills in sports and how they contribute to overall development

1:9,9,9,9,9,9,9,9,9,9,9,9,9,9.4
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